# TABLE OF CONTENTS VOL 3 NO# 4, 12/86

TITLE	PAGE
LETTER FROM THE PRESIDENT	
TERMINUS TOWNS	1 .
ANCESTOR TABLE Steve Martin Lawson .	3.
JOBE'S PLACE	9.
TURNING CURIOSITY INTO FACTS	12.
FORT GIBSON- 1915 BUSINESS DIRECTORY	14.
GREEN HILL CEMETERY	15.
LIST OF INDIAN ROLLS ON MICROFILM	29_

### Notes from the President

The society has been receiving some nice compliments on our Quarterly, and for that we are most grateful. Many hours of research and work go into them, so it's good to hear from you. We have strived to deliver a "fact-giving" magazine for your research and not just a "newsletter".

From the beginning of the society and printing of the Quarterly our fiscal year, May, and the first quarterly's printing has been out of sequence, making many of you wonder if you are missing a quarterly (YOU ARE NOT!). So... to straighten out this discrepancy, once and for all, not only are you now receiving Vol. 3 #4, but we will be sending a supplemental special issue to you in March. Volume 4 Number 1 will begin in June; #2 will be in Sept.; #3 in Dec. & #4 in March. May this forever end the confusion!

\* \* \* \* \*

Christmas came early for us when Myra Vanderpool Gormley, noted syndicated genealogist and a former Muskogean, donated to our collection these fine books:

- -- Genealogical Dictionary of the First Settlers of New England, Vol. 1-4, by James Savage, Genealogical Publishing Co. Inc. Baltimore, 1986.
- -- First Settlers of Albany County, New York, 1630 to 1800, by Prof. Jonathan Pearson. Gene. Pub. Co. Inc., Baltimore, 1984.
- -- Roster of Soldiers from North Carolina in the American Revolution.
- -- Culpeper County, VA. Marriages, 1780-1853, John Vogt & T. Wm. Kethley Jr., Iberian Pub. Co., Athens, GA 1986.
- -- The Early Settlers of Maryland, Gene. Pub. Co. Inc. 1979
- -- Burke's Extinct & Dormant Baronetcies.

Many thanks!!

We also want to thank Amelia Pivernetz of California, for donating a booklet titled "Letters to Ma", a collection of interesting letters of her family when they moved from Fayetteville, Ark. 1899, to Webbers Falls. We hope to print some of these fascinating letters in a future edition.

\* \* \* \*

Our own Mickey Hagan did such an excellent October program on "How to conduct an Oral Interview", that we will have her return in January for a program on "Immigration Trails". We also thank Mickey for a \$50. donation.

Part of the purpose for this society is to purchase books on genealogy, so we want to thank all of those who participated in the rummage sale, for those proceeds will be used in purchasing new books for our collection. If you have any genealogical or county history books gathering dust on your shelves, please remember us, for we will be happy to share them among other researcher. If you have any Muskogee history/people tidbits those would be special to us too!

### TERMINUS TOWNS

### By Sheri Siebold

The real opening of Indian Territory came with the all important "laying of tracks" by the M.K.& T. Railroad. The towns that sprang up over night were called Terminus towns, some short-lived, while others became the cities of today.

The riff-raff that followed these frontier outlets, such as at Gibson Station (not to be confused with Ft. Gibson), coupled with delays in track laying by an Irish brigade, caused no little trouble. Large gambling tents fourished, while prostitution and killings mushroomed in the lawless territory.

Katy traffic manager, H.D. Merrick, was greatly concerned over the "hordes of parasites" in the form of drunkards, robbers, terminus men and gamblers who collected at the end-of-the-track, and as things grew worse, Merrick urgently requested help from the War Department:

There is an intense animosity among the Cherokees and Creeks, existing and demonstrating itself in various forms, between the full-bloods and the half-breeds. Naturally at the end of our Road there congregates a large number of white people -- some well disposed, and others not so well disposed. There being no force to preserve order between the Indians and the white men, it leads to collisions constantly. Ft. Gibson at night is dangerous, and halfbreeds and whites are drinking, gambling and shooting all night long. Women of bad character are also in full force.

After the railroad bridge was completed over the Arkansas River in December of 1871, the muddy bottom-land slowly rose and leveled out, enabling the track laying to quickly progess.

Col. R.S. Stevens, agent and attorney in charge of purchasing the track road, wrote the vice president of the Katy R.R.:



-from Scribner's Magazine

I send you herewith tracing showing the line of our road from the Arkansas River down a little over three miles to a point where I propose to establish a station to be called Mus-ko-gee. It will be the end of an operating division first below Parsons [Kan.], being 113 miles or thereabouts.

Locating Engineer F.O. Marvin, wrote:

I myself located Muskogee. One afternoon about four o'clock I picked out a place for a new siding and drove stakes marking the railway's

Letter Book No. 6, Ibid.

Traffic Manager's Report - "The Katy R.R. & The Last Frontier, by V.V. Masterson (Univ. of Okla. Press, Norman).

reservation for depot and wagon ground adjacent.

The town literally sprung up in a night. In the case of Muskogee, the first morning after I drove my stakes, there were several tents and board shacks up and ready for business. Before breakfast, one man was dead and the murderer was being chased over the prairies by a lot of men. So Muskogee was born in blood.

R.P. Vann, grandson of the famous Cherokee, Joe Vann, was in Muskogee when the first train went through:

It was a construction train and no station had yet been built. In front of where the station now is there was a little shack between the tracks in which the people waited. In this shack was a little eating place. I was working for Tom Hutton as a cowboy. There were lots of people in Muskogee that day. Mr. Strokey, a big old fat Dutchman kept a little restaurant just across from where the station is now. The cowboys always stayed at Strokey's place as they did not like to go to Mitchell's hotel because Mitchell did not like to have them go to bed with their boots on. Strokey was not so particular and there they could get drunk and sleep with their boots on. I never did though as I never drank. Muskogee was a very rough town then. I have seen a great many fights there and killings were very frequent.

Muskogee's first citizens were the same "terminuses" who had infested Gibson Station and Ft. Davis, although some of the legitimate suppliers for the railroad workmen along the railhead came to settle in Muskogee such as J.S. Atkinson and James L. Barnes.

Edward King, a Scribner's Magazine reporter, reported what a "little hell" Muskogee was and how dangerous it was to even walk through the canvas town without getting shot at. Mr. King mentioned the boot-hill cemetery where eleven men were buried with their boots on.

The reason Muskogee didn't dry up and blow away like some of the other Terminus towns, was due to the government ordering the consolidation of the Five Civilized Tribes, to be known as Union Agency, which located itself at Muskogee in January of 1876.

\* \* \* \* \* \*

The Oklahoma Genealogical Society Quarterly, Volume 31, No. 3, has the 1860 Federal Census, Creek Nation, Indian Territory. Future issues will have the Cherokee, Chickasaw, Choctaw and Seminole Nations.

Letter dated Feb. 16, 1908 in company files
Reminiscenses of Mr. R.P. Vann, East of Webbers Falls, OK, Sept. 28, 1932, as told to Grant Foreman, Chronicles of Okla., Vol. 11, 1933, p. 843.

# Ancestor Table (Some years approximate.)

1	1938-	Stephen				1
			line A			
		Port urchar	o, wa	98366-4301		
		P	arents			
2	1908-1974	Donald Van Hoosier Lawson	1932	Iva Melvina Freeman	1913-	3
		Gra	ndpare	nts		
4	1868-1958	James Martin Lawson	1895	Lucy Jane Freeman	1871-1951	5
	1879-1946	Aretus Erastus Freeman			1877-1959	7
		Great	Grandp	arents		
8	1841-1895	Mordecai S. Lawson	1867	Elizabeth Caroline Turman	1846-1914	
10	1848-1920	Cyrus Scott Freeman	1870	Malinda Margaret Sears	1853-1946	11
12	1850-1901	George Rosulus Freeman			1856-1942	13
14	1840-1912	William Clemeth Morey	1865	Melvina E. Andrews	1843-1926	15
		Two-Grea	t Gran	dparents		
		0. 1	4070	Contab. M. Class	1014 1005	17
	1815-1848			Sarah M. Sims	1814-1885 1811-1858	
	1802-1881	John C. Turman				
	1820-1871	James Howell Freeman			1824-1865 1821-1899	
	1824-1899			Elizabeth C. McClanahan	1830-1887	
	1822-1888		1847	•	1820-1903	
	1808-1887		1853			
	1815-1850	Elijah Mason Morey			1819-1855 1814-	29 31
30	1812-1866	Henry L. Andrews	1879	Harriet Holcomb	1814-	31
		Three-Grea	at Gra	ndparents		
32	1793-	Mordecai Lawson	1814	Frances Stephens	1795-	33
34	1783-1842	Robert Sims	1813	Frances Howard Merritt	1797-1871	35
36	1750-1830	6arret Turman	1779	Mary Giles		37
38	-1814	Richard Neely	1810	Sally Parker	1791-1884	
40	1786-1872	William Ronald Freeman	1807	Mary Massie	1789-1868	41
42	1798-1876	Charles Hazelrigg	1820	Lucinda Holloway	1797-1865	43
44	1800-1866	John Joseph Sears	1821	Elizabeth Kerby	1803-1888	45
46	1792-	Joseph McClanahan	1816			47
48	1778-1855	John Freeman	1804	Barbara Painter/Bender	1783-	49
50	1797-1869	Josira Wallace	1820	Bathshaba Kelsey-Jones-Hail	1791-1869	51
52	1768-1853	Joseph Carpenter/Zimmerman	1798		1780-1856	53
54	1793-	James Withrow McGaughey	1816	Elizabeth	1790-	55
56	1781-1853	Eli Morey		•	1781-	57
58	1772-1847	Allen Merrill		Tammy Smith		59
60	1768-1846		1789	Lucy	1768-1832	
62	1774-	Jonah Holcomb	1798			63

Member: First Families of Itawamba, Sons of Union Veterans of the Civil War, Sons of the American Revolution.

#### C. M. and Sarah M. (Sims) Lawson

C. M. LAWSON - b. 1810-1820, probably in Wayne Co., TN; d. Jun. 1848 to Jun. 1850, probably in Itawamba Co., MS. Very little is currently known of C. M. LAWSON, not even his given name. Dates, locations, given names of children, and other evidence strongly suggest he was the brother of Amos B. LAWSON of Itawamba Co., MS, son of Mordecai and Frances (STEPHENS) LAWSON of Itawamba Co., MS, nephew of Amos, Thomas and John LAWSON, and grandson of Thomas LAWSON, Sr. of Wayne Co., TN. There is a strong family resemblance seen in photos of C. M.'s grandson James Martin LAWSON and his supposed great uncle Amos B. LAWSON. The Pariss Henry Sims Family history, by Almon J. Sims (1948:Knoxyille), gives the family bible record of Robert and Frances Howard (MERRITT) SIMS, including the marriage of their daughter Sarah M. SIMS to C. M. LAWSON, and states, "They had 4 children. One died in infancy, the others Mordicia (sic), Amos and Martin (sic) Jane Lawson lived and died at Muskogee, Oklahoma." C. M. LAWSON and Sarah M. SIMS were married Mar. 21, 1839 in Wayne Co., TN. The only Census record of C. M. LAWSON is the 1840 census of Wayne Co., when he and his wife were in the 20-30 age bracket and had one son under age 5. The next record found that names him is dated Jun. 7, 1847 in Itawamba Co., MS: C.M. LAWSON signed a deed of trust, together with Mordica (sic) LAWSON and wife Francis (sic), William C. CYPERT, Elijah B. HARBOUR, and others. Those named here are all found in the 1840 Census of Wayne Co., TN. The land described in the deed (S24 T10S R8E Pontotoc Meridian), sold by Mordecai LAWSON to E.B. HARBOUR, was located about 5 miles SSW of Fulton, just west of the Tombigbee River, near Van Buren. On Jun. 5, 1848 at the post office at Van Buren, Itawamba Co., MS, C.M. LAWSON, Mordecal LAWSON, and others signed a statement that one William R. BRUNDINE was an idiot. Land (in S3 Tils R8E), known as "the Lawson Place", is located about 4 miles SSW of Van Buren, a village organized in the 1830s and no longer existing by 1860. It is concluded that C. M. LAWSON died between Jun. 5, 1848 and the Jun. 1850 census of Wayne Co., TN, since his wife (widow) is listed as the head of the household composed of his three surviving children.

Sarah M. 'Sallye' SIMS - b. Jan. 9, 1814, Stokes Co., NC; d. Apr. 27, 1885, Creek Nation, Indian Territory; bur. Greenhill Cemetery, Muskogee, OK. Sarah was the daughter of Robert and Frances Howard (MERRITT) SIMS, and grandaughter of Pariss Henry SIMS, a soldier of the Revolution in NC (NSSAR National Number 127981). Her middle name is reported as Merritt, although the family bible records Martin. The 1850 Census of Wayne Co., TN lists Sarah M. LAWSON as head of household, and age 35. She is listed as Sarah LAWSON in 1860 and 1870 censuses of Wayne Co., TN. In the 1880 Census of "Suburbs of Bells," Grayson Co., TX, she is found in household of A.M. LAWSON as his mother, together with her daughter Martha Jane, and living next door to her son Mordecai's family. By 1882 Sarah moved with her children to Siloam Springs, Benton Co., AR, and in late 1884 or early 1885, to Muscogee, Creek Nation, Indian Territory. Sarah was buried in the old cemetery at Muscogee, and about 1890, her remains and those of about 30 others were removed to the new cemetery, known as City or Greenhill Cemetery. Though broken, repaired, and again broken, her grave stone is still readable: Sarah Lawson - wife of C.M. Lawson - 71 yrs. (3) mo. 18 days - d. April 27, 1885.

C. M. and Sarah M. LAWSON had four children: 1) A sen was born about 1840 and died in infancy. 2) Mordecai S. LAWSON was born in 1841 in Itawamba Co., MS. 3) Martha Jane LAWSON was born in 1844 in Itawamba Co., MS. 4) Amos M. LAWSON was born in 1846 in Itawamba Co.. MS.

#### Mordecai S. and Elizabeth Caroline (Turman) Lawson

Mordecai S. LAWSON - b. 1841, Itawamba Co.. MS: d. Jun. 23, 1895 (3 p.m.). Muskogee, OK; bur. Jun. 24, 1895, Greenhill Cemetery, Muskogee, OK. Mordecai served in Union Army during the Civil War as 1st Sgt.. Co. F. 6th Regit.. Tenn. Cavalry Volunteers. His pension file IWC432868, National Archives contains documents providing his and his wife's signatures, and extensive personal and family information. Also included is his personal description as 5' 11" tall, with dark complexion, dark hair, and blue eyes. Mordecai entered the service on Sep. 21. 1862 from Wayne Co., TN, and was discharged Jul. 26, 1865 at Pulaski, TN. His application for pension states ne was disabled due to "disease of lungs," suffered from dyspepsia, heart burn, measles complications, "diarrhora", and was hospitalized several months at Bolivar and Memphis. TN while in the service. Affidavits were prepared supporting his claim by Company Captain David I. DICKINSON, and Company Clerk Robert M. Alexander. The latter stated that Modecai's illness was due to "exposure from army servis and the unwoisom quality of army dyett." His pension application was apparently never approved, but his widow did receive a pension based on his service.

After the war, Mordecai married Elizabeth Caroline TURMAN on Seo. 26, 1867 in Waynesboro, Wayne Co., TN, at the

home of her father. They subsequently lived at Martin Mills, Wayne Co., TN, Bells, Grayson Co., TX, Siloam Springs, Benton Co., AR, and Muscogee, Creek Nation, Indian Territory. The following items are from the Muskogee Weekly Phoenix: Jun. 26, 1890 notice - "M. S. Lawson appointed to arrange for the meat and B.B.Q. for the Fourth of July Picnic at the Frozen Rock Community." Sep. 6, 1894 ad - "Go to M.S. LAWSON & Co. for fresh groceries. Price their goods and see how cheap they are selling." Other ads on the same date say that it was a new grocery on the east side of town. On Sep. 26, 1890, Mordecai became affiliated with the Muskogee Masonic Lodge No. 28. His name is listed in the 1897 Proceedings (page 219) of the OK I.O.O.F. as having died in 1895, being until death a member of Muscogee Lodge No. 25. Mordecai married on Sep. 26, 1867, in Waynesboro, Wayne Co., TN, at home of John C. TURMAN, father of the bride.

Elizabeth Caroline TURMAN - b. Jan. 8, 1846, Bedford Co., TN; d. Oct. 26, 1914, Tecumseh, Pottawatomie Co., OK. She was the daughter of John C. TURMAN and Mary A. NEELY, and was known as 'Carrie', thus signing pension application. After the death of her husband, Carrie moved with her children to Tecumseh, OK by Apr. 1896, and was still there at the time of the 1900 census. The LAWSONs moved to Tucumcari, NM about 1903, where Carrie joined the Tucumcari Baptist Church by 1906. She was still in Tucumcari in Mar. 1909, but returned to Tecumseh by Oct. 1914. Her last pension payment before her death was \$12 paid on Aug. 4, 1914.

Children of Mordecai S. and Elizabeth Caroline (Turman) Lawson

James Martin - b. Jul. 2, 1868. Waynesboro, Wayne Co., TN; d. Apr. 10, 1858, Patton, San Bernardino Co., CA; bur. Lake View Cemetery, Seattle, King Co., WA. On Oct. 22, 1895, at Muscogee, IT, James was married to Mrs. Lucy Jane (FREEMAN) GRAY, by Rev. W. A. Freeman, Methodist minister of Hamburk, AR (no known relation). Lucy was the daughter of Cyrus Scott and Malinda Margaret (SEARS) FREEMAN of Nevada, Vernon Co., MO, and Muskogee, OK. She had previously been married to James T. GRAY of Parsons, KS, and they had a son Clyde Fentless, known throughout his life as Clyde Fentless LAWSON. The GRAYs were divorced Dec. 6, 1893. A notice in the Nov. 10, 1894 issue of the Muskogee Weekly Phoenix reports, "Mrs. Lucy Gray is a saleslady at the Rackett Store." After their marriage, James and Lucy LAWSON moved to Tecumseh, OK, and by 1903 to Tucumcari, NM. There, James began his trade as a builder and mason, and Lucy operated a millinery shop. He was baptized at the Tucumcari Baptist Church on Jan. 4, 1904, and dismissed on Jan. 24, 1909 to the First Baptist Church of Seattle, WA, where the family moved in 1908. The LAWSONs returned to Muskogee, OK in 1916, and lived there for five years. They were back in Seattle in 1922, and James and Eucy separated in 1923, when she remained in Seattle while he moved to Los Angeles, CA to re-establish his trade as a mason. Child of Lucy and James SRAY: Clyde Fentless LAWSON. Children of James and Lucy LAWSON: James Cyrus married first Phyllis, second Virginia, and third Betty DILLON; Carrie Malinda died in infanct; Monagene married first and fourth Lawrence ROYCE, married second Walter REEVES, married third Bert WILLIAMS; George Oliver married first Bonnie NICHOLS, second Grace Lillian WASSER; Eugene died in infancy; Thomas Wendell married first Adeline BUCKNER, second Pat PATRICK; Charles Freeman did not marry; Donald Van Hoosier married Iva Melvina FREEMAN; and Ruth Marian married Thomas J. KURACK.

John M. - b. Aug. 7, 1871, TN; d. Dec. 26, 1906, Tucumcari, NM. John was in Tecumseh, OK at the time of the 1900 census, single, living in a boarding house, and employed as a town marshal (occupation difficult to read). John became Marshal of Tucumcari in 1906, and was killed by the candidate he defeated, as reported in the <u>Tucumcari News</u>, Dec. 29, 1906. Mortuary records indicate he was buried on Dec. 27, 1906 in a 5–9" casket, the expenses of \$70 paid for by brother James on Jan. 14, 1907. J. M. LAWSON is listed in the 1907 Proceedings (page 771) of the OK I.O.O.F. as having died in 1906, being until death a member of Tecumseh Lodge No. 24. A niece reports his wife's name as Velma (married about 1900). Velma LAWSON joined the Tucumcari Baptist Church by letter on Sep. 30, 1906. Children: 'one baby and the other five years old', December, 1906. The 1912 Muskogee City Directory lists Mrs. Velma LAWSON, saleslady at Patterson Mercantile Company, as rooming at 18 W S S Boulevard.

Willie Josephene - b. Oct. 31, 1874, TN. Willie remained a dependent daughter of her mother, apparently caused by an early childhood injury. The 1900 census reports she could not read, write or speak English. She may be the third LAWSON sister in the photograph taken about 1905 in Tucumcari, NM - based on internal evidence. Perhaps she was the W. LAWSON, age 43 (sic), who died of TB at Tucumcari, NM on Dec. 15, 1915, and was buried the same day.

Sarah Ione - b. Oct. 1876, TN. Sarah perhaps married Harry HODGES, as one family source indicates that a sister of James Martin married him.

Martha T. 'Mattie' - b. Dec. 1878, Grayson Co., TX. Reportedly, she married a Mr. WILCOX, and had four

daughters.

Lola B. - b. Jan. 22, 1880, Grayson Co., TX. Since Lola does not appear in 1880 Census, her birth year may be 1881, instead of 1880. She was photographed in Tucumcari, NM, about 1905. Lola married Louis HARKEY.

Oliver D. 'Ollie' - b. Mar. 23, 1882, AR; d. Dec. 30, 1965. Ollie was photographed in Tucumcari, NM, about 1905, and was still there in Mar. 1909. He married Gertrude. One family source indicates Ollie moved to Sacramento, CA, and became successful, Lawson Boulevard there being named for him.

Mary Adelle 'Della' - b. Aug. 27, 1884, Siloam Springs, Benton Co., AR; d. 1965, Glendale, CA. Della was baptized Dec. 8, 1909 at Tucumcari Baptist Church. She was photographed in Tucumcari, NM, about 1905. Adel, single and living at Tecumseh, OK, was the informant for the information on the death certificate of her mother. Married Oct.-Dec. 1914 Tracey Benjamen JOHNSON (b. 1881, Sweden; d. about 1966, Oklahoma City, OK). The JOHNSONs lived for a time at Bombarton, TX. Children: Leonard Doyell married Evelyn Frances TOWERY; Tracy Wanda Wanette married first Sidney Paul BRAMLETT, and second Lewis Wayne MARTIN; Mona Adelle married first Andrew W. DOYEL, and second Rocca DELURGIO; and Mary Lois married first John Jacup TOWERY, and second Thomas Wilvur BRYANT.

#### Martha Jane Lawson

Martha Jane LAWSON - b. 1844, Itawamba Co., MS; lived in Muskogee, OK. Martha did not marry. She is found in the Census records for 1850, 1860 and 1880 living in the same household as her mother. Since her death date is not known, she may have been the M.J. LAWSON who joined the Tucumcari, NM Baptist Church May 27, 1906. The Muskogee, OK City Directories lists a Miss Matie LAWSON boarding at 1017 W Broadway in 1916, Miss Mattie LAWSON at 321 N 13th in 1917, and at 225 S. 12th in 1922 - possibly Martha Jane.

### Amos M. and Margaret C. (Sisk) Lawson

Amos M. LAWSON - b. 1846, Itawamba Co., MS; d. Jan. 9, 1891, Muskogee, OK. Occupation 1880: making shoes. Amos was married Nov. 10, 1865 in Wayne Co., TN, to Margaret C. SISK (b. Mar. 1847, TN) by A.P. PHILIPS, J.P. The 1880 Census of the suburbs of Bells, Grayson Co., TX enumerates the A. M. LAWSON family, including his sister and mother, living next door to his brother Mordecai. Amos' death date is from his obituary in the Muskogee, OK Weekly Phoenix, Jan. 15, 1891.

Known children of Amos and Margaret (1900 Census: 6 children, 2 living):

Joseph M. - b. Feb. 1873, TN. Joseph married about 1895 Hattie 'Tennie' D--E (b. May 1877, TN). The 1900 Census of Muscogee, IT shows that his mother Margaret, brother Fred, and sister-in-law Nora B. D--E (b. Apr. 1884, TN), were living with him. Occupation: Cab Driver. Joseph and Tennie are found in the 1903 Muskogee City Directory at 119 Spaulding Avenue, his mother and brother boarding with them. Children: William M. and Joseph.

John R. - b. 1876, TN; d. by 1900, perhaps by 1891.

Samuel W. - b. 1879, TX; d. by 1900, perhaps by 1891.

Fred - b. Apr. 1884, Indian Territory. Fred was living with brother Joseph in 1900 and in 1903. Occupation: Day Laborer 1900, salesman 1903.

#### FREEMAN

### Cyrus Scott and Malinda Margrett (Sears) Freeman

Cyrus Scott FREEMAN - b. Feb. 23, 1848, Pike Co., IL; d. Mar. 21, 1920, Muskogee, Muskogee Co., OK; bur. there. Scott, as he is known in most later records, was born to James Howell and Lucy Jane (HAZELRIGG) FREEMAN. A record of his marriage has not been found, but it probably occured in late 1870 or early 1871, in Pike Co., IL. Scott and Malinda were living at Nevada, Vernon Co., MO by 1872 with daughter Lucy Jane, where Scott worked as a carpenter. A notice in the Nevada Daily Mail, Jul. 14, 1897 indicates the family left there to live at Neosho, Newton Co., MO, having rented a hotel there. By the time of the 1900 Census of Muscogee, Indian Territory, they had moved there, being enumerated as the household of Scott C. Freeman, Commercial Traveler, wife Malinda M., and children Anna, Leland, Pansy, Ollie, Nellie, and Melvin. Perhaps the Scott and Malinda moved to CA for a short term around 1908, as is suggested in a postcard written by their daughter (see below). In various locations, he is known as Cyrus S., S. Cyrus, Scott C., S. C., and Silas FREEMAN.

Malinda Margaret SEARS - b. Dec. 13, 1853, La Plata, Macon Co., MO; d. Jan. 31, 1948, Chouteau, Mayes Co., OK; bur. Feb. 4, 1948, Muskogee, Muskogee Co., OK. Her birth date is given as noted on her death certificate, but the 1900 Census indicates she was born in Oct. 1852. The same Census states she was the mother of 10 children, 8 then living - probably this should have been 10 living children, 2 deceased. She was living in Chouteau on Dec. 13, 1937, ('84 years old') with son Richard. Malinda was the daughter of Chesly and Elizabeth C. (McCLANAHAN) SEARS, who were married in Macon Co., MO, and celebrated their golden anniversary at Nevada. Vernon Co., MO on Sep. 12, 1898.

#### Children of Cyrus Scott and Malinda Margaret Freeman

Lucy Jane - b. Sep. 12, 1871, Eldara, Pike Co., II; d. May 13, 1951, Seattle, WA; buried there in Lake View Cemetery. A notice in the Nov. 10, 1894 issue of the Muskogee, OK Weekly Phoenix reports, "Mrs. Lucy Gray is a saleslady at The Rackett Store." For her children of her second marriage refer to the Lawson line. Lucy married first Apr. 10, 1890, Nevada, Vernon Co., MO, James T. GRAY, at the home of her parents. They were divorced Dec. 6, 1893, Nevada, Vernon Co., MO. Lucy married second Oct. 22, 1895, James Martin LAWSON. James T. GRAY lived at Parsons, Labette Co., KS before and after marriage. A family source reports he was a railroad worker, and was divorced after a violent argument. The Nevada Daily Mail of Aug. 14, 1893 gives the following (abstracted) information regarding the divorce: "James T. Gray vs Lucy Gray - before marriage was Miss Lucy Freeman, she is now living with her father, Silas Freeman at Muskogee, Indian Territory. Petition alleges desertion: they were married in 1890 and in Nov. 1891, while husband was away from home, she sent word for him not to come home. When de did return, she refused to let him see their child and refused to live with him." The uncontested divorce was granted to James T. GRAY on the grounds of desertion. James and Lucy GRAY had one child, Clyde Fentless, known throughout his life as Clyde Fentless LAWSON.

Elizabeth 'Lizzie' Belle - b. 1873, MO; d. about 1908. Lizzie married Benjamin B. MARSHALL, and they were living at Clarkesville, IT in May 1897. Their daughter Miss Ruth MARSHALL, a student, was living at the home of Benjamin and his second wife in 1916 (Muskogee City Directory). Children: Beauregard married; George; Ruth; Elizabeth married Mr. HOLSEY; Gertrude; Benjamin, Jr. married; and Haskell. After the death of Lizzie, Benjamin married her sister Anna.

A child - prob. born about 1875, MO; d. by 1880 Census.

Charles A. - b. 1876, MO. The Polk's Business Directory of 1901-2 for Muskogee, OK, lists the Roessler-Freeman Shoe Co., Julius ROESSLER, president, and Charles A. FREEMAN, treasurer. The 1903 Muskogee City Directory lists him as: Chas (wf Augusta B), mgr Roessler-Freeman Shoe Co., res 509 W Court. The only other Freemans in the 1903 directory are his parents, sister Anna, and brother Leland.

Anna May - b. Sep. 1878, MO. Anna is listed in the 1903 Muskogee City Directory as a saleslady at W. H. Woodward, residing with her parents. She is listed in the 1916 Muskogee City Directory as wife of Benjamin B. MARSHALL, oil leases, residing at 516 North E. Refer to sister Lizzie for children of Benjamin MARSHALL. Anna married Oct. 21, 1908, Benjamin B. MARSHALL after death of Lizzie.

Postcard postmarked: Muskogee, OKLA Nov 8, 1908

Addressed to: Mrs. James Lawson 1613 9th Ave Seattle Wash.

Picture: View of Hyde Park, Muskogee, Okla.

Message: Lucy, why did you not answer my letter. Papa & the folks have moved to Cal. No Los Angeles. Ben and I were married Oct 21st you should see how nice my house looks. I never

was happy until now Lucy and I am <u>truly</u> happy. How are you all. I do hope well. I'll write when I hear from you. Mrs. Anna M. Marshall Box 1051.

Richard - b. about 1880, MO. Dick married Sally, and they lived at Choteau, DK. He was living in DK in May 1951. He was the informant for the information on the Death Certificates of both parents.

A child - prob. born about 1883, MO; d. by 1900 Census. Possibly Orville (family sources).

Leland C. - b. Jan. 1885, MO. Leland is listed in 1900 Census as a Grocery Salesman, and in the 1903 Muskogee City Directory as cashier at Knight's, boarding at 515 Callahan, the home of his parents.

Pansy - b. Feb. 1887, MO.

Ollie - b. Jun. 1870, MO. The 1916 Muskogee City Directory lists: Schindleman, Max (Ollie) clk Kirschner's, rms 605 E Broadway (home of Ollie's parents). Ollie married Max SCHINDLEMAN. Children: Bill, Jack, Nell.

Nellie - b. Jun. 1893, Indian Territory.

Melvin C. - b. Mar. 1895, Indian Territory. Melvin is listed in the Muskogee, OK City Directories of 1916 through 1918 as unmarried, and residing at 605 E Broadway, the home of his parents. He is listed in the 1936 Directory as unmarried, a pharmacist, residing at 221 1/2 N 2nd, and was still living in OK in May 1951.

### MORE "Family " Books

Postcard invitations to purchase a limited edition book about YOUR family genealogy have been circulating throughout the country. The approach is similar to the Beatrice Bayley and Sharon Taylor offers of past years, each presentation signed by a female name and mailed from a different area in Pennsylvania.

Reports of the following are known: from Elizabeth Ross in Scranton, The (NAME) Album; Mary Whitney's (NAME) Across America; Vicki Lee Karr and Anne Louise Baker, both of Lansdale, advertise The (NAME) Family Genealogy. The books sell for about \$29.95 and are said to represent names that were found in records that represent more than 200 million persons.

In this regard, the Sept.25,1985 Postal Bulletin has the following listing under "DOMESTIC ORDERS..... False Representation. Enforced by Postmasters at cities listed:

"PA, Sterling 18463-0055...Beatrice Bayley, In c., Post Office Box 55... The sale of family heritage books."

The controversial Bayley operation dates back several years, but through consumers' complaints and the investigations of them, plus at least one court case. The U.S.Postal Service has taken the above action.

AntiqueWeek-- Mon.,Nov 17,1986

Reuben Partridge, Field Worker Indian-Pioneer History Project S-149 3-25-37 One Page.

## JOBE'S PLACE Interview with Nero Nevins - Cherokee Freedman

When peace was declared after the Civil War, a man by the name of JOBE started a trading post about forty-two (42) miles east of Okmulgee, and mail was carried on horseback between the two points. At Jobe's place the store and post office was run by Jim PARKINSON. Later another station was put in at Wellington, just half way between Jobe's place and Okmulgee, and four (4) miles west of Lee post office. When the railroad was built, the store at Wellington was moved to the Lee post office, which is now known as Boynton.

Jobe had plenty of money, hogs and cattle, and his place, which was a good sized settlement, was equipped with the things that Indians would buy, such as Indian shawls, moccasins, riddles, fanners, big wooden spoons used in making sofke; groceries and calico. When the M.K.&T. Railroad came through west of Jobe's place, a man by the name of "DRESBACK" bought Jobe's stock of goods and moved it to Muskogee, but left the buildings. At the time of the Cherokee payment there were to be seen a few old hewed log houses and chimneys still standing.

Indians trading at Jobe's place forded the Arkansas river at the Leecher and the Nevins Ferries, and at one other rock crossing between the Leecher and the Nevins ferries.

NOTE: Jobe's trading post was between Bacone Indian College and the Arkansas river or between old Fort Davis which mounted the ancient Indian Lookout Mound and the Arkansas river - Thomas F. Meagher, Supervisor

\* \* \* \* \* \* \* \* \*

CAN'T FIND YOUR SURNAME?? If you can't find the names you are seeking in a printed census index, please keep in mind that there may be omissions, ex: the 1850 Census Index of Pennsylvania omitted about 8,000 names. Always search carefully the census itself. Diligent research will pay off when you find that certain name.

### JOBE FAMILY CEMETERY

Section 12, T15N, R18E, Muskogee County Private property off of Harris Road Fenced, but uncared for

The Jobe and Sells families came to Indian Territory with the Creeks in 1825 settling first on the east side of the Arkansas River until a survey revealed that they were residing on Cherokee land; prompting them to move to the west side of the river onto Creek Nation land. The 1860 Census shows Leroy JOB and John SELLS in the same area. From T.F. Meagher's map of Three Forks: "Louis Job, Creek, Job's Store, 1870-72.

- JOBE, Charlsie S.
- b. Dec. 29, 1859 d. Jan. 24, 1886

2. JOBE, L.P.

- b. Mar. 5, 1812 d. Jan. 31, 1892
- 3. JOBE, Cherokee
- "wife of L.P.JOBE", d. June 22, 1885, aged 63 yrs.
- 4. JOBE, Augustus
- b. Apr. 25, 1864 d. Nov. 12, 1892
- 5. , Ellen F.
- d. May 22, 1887 age 6 mo. 11 days

### On one monument:

- JOBE, Richard P.
- b. Nov. 28, 1858 d. Jan. 19, 188 (4) d. Sep. 23, 1877, aged 85 yrs.
- SELLS, Pattie JOBE, John S.
- b. Jan. 15, 1855 d. Jan. 19, 188 (4)
- SELLS, John
- d. Aug. 10, 1862, aged 46 yrs.

### On one monument:

- MURPHY, Walton L.
- MURPHY, Charles F. MURPHY, Sueler C.
- MURPHY, Cherokee
- MURPHY, Wilmer
- b. Aug. 16, 1869 d. Nov. 27, 1869
- b. Sep. 29, 1880 d. July 14, 1881
- b. Mar. 27, 1867 d. Sep. 4, 1870 d. Dec. 27, 1870 b. Nov. 28
- b. Feb. 2 d. Mar. 1, 1876

### Buried, but no tombstone:

Infant of Cora LAWRENCE

Mrs. Scroggins

Milly Francis (the Creek Pocahontas) - On T.F. Meagher's Map of Three Forks shows Milly Frances at the settlement of Muscogee, dated 1843. She died May 1848. Said also to be buried at the Bacone College cemetery, but more likely the Jobe land since she lived close to it. The Jobe sisters also said they have always heard that Milly Frances was buried on Jobe land.

### Other Notes on the Jobe Family

Mary & Gertrude Jobe attended the Nazareth Institute (Catholic school) in 1903. Their father, Louis, attended Asbury Mission at old North Fork Town/ The 1907 Directory shows that Eliz. MURPHY and Eliz. M. JOBE both owned unplatted lands inside corporate limits.

When a white man who was not a citizen of the tribe wanted to build a home or erect a business house, he simply rented or bought the right of possession to a lot from the Indian who was in possession of it. If a white man desired to sell or trade his home or store building, he could not execute a deed to his lot, but could only execute a bill of sale for his improvements, which carried with it the right to occupy the lot upon which the improvements were located.

Visitors and prospectors from the states, accustomed to warranty deeds and abstracts of title were puzzled at this condition of affairs and were naturally slow to invest their money, either in buildings or lots. Old timers, however, who had invested their fortunes here, seemed to have implicit confidence in the Government and the tribe, hoping that at some time, in some manner they would be able to secure complete title to the lots which they had improved and their confidence was not misplaced.

% % % % % % % % % % % % % % %

### A Recent Reunion

7,9

The Adairs of eastern Oklahoma will unite with many other Adairs, friends and related families (the Bigbys, Sanders, Starrs, Mayes, Riders, and others), for a day of reunion Aug. 3. The site for the gathering will be at Pine Creek Cove on Lake Tenkiller, south of Tahlequah, where in a cool building memorabelia and a potluck meal will be shared, as well as other activities. Prizes will be awarded and other recognition, such as for the elderly attending and distance traveled.

The Adair name originated from the village of Adare in Ireland and family ties were later established in Scotland. Thomas Adair and sons James, Joseph and William immigrated to America from Ireland in 1730, and traveled from Pennsylvania to the eastern Cherokee Nation, where they built a large trading business with the Cherokee and Chicksaw nations.

They settled on Duncan's Creek, the Wateree and Catawba Rivers in the Carolinas. James Adair (Dr. Robert James Adair) later wrote the book, "History of the American Indians," published in England in 1775. Another book, Dr. Emmett Starr's "History of the Cherokees," notes two Adair brothers, John and Edward, traders in the Cherokee Nation in the late 1700s and early 1800s, who both had Cherokee wives.

Their children were numerous, and began a long line of descendants. John Adair's will, recorded in Pendleton District of South Carolina in November 1815, indicated his intention, after a portion to be sold to settle debts, to leave various land areas, household items and other belongings to each member of his family.

In Georgia, the town of Adairsville was named for members of these families, and in Oklahoma the town of Adair and Adair County, as well as other locations. Several descendants of the Adair brothers married descendants of Nanyehi (Nancy Ward), an early Cherokee woman of tribal influence and leadership. Many of their descendants live in Oklahoma within the present area of the Cherokee Nation, and a number are in other states.

### Turning Curiosity Into Facts by Sheri Siebold

Researching is really fun! A few years back while tripping around Ft. Gibson, I noticed an old hotel, which was empty, alongside the once bustling railroad tracks in town. Out of curiosity, we asked the neighbors about the old place and graciously, they informed us that it had been a hotel, but was the residence of an elderly lady, who was in a Tulsa nursing home. Dropping the matter there, I never went through Ft. Gibson without thinking about that hotel. It sat there year-after-year, through all kinds of weather, with the paint slowly fading off of the boards exposing the lettering, "Trent Hotel".

Once again my curiosity was aroused and I decided to investigate, genealogically speaking, the Trent Family.

In a pamphlet titled "Historic Ft. Gibson", prepared by the Ft. Gibson Historical Preservation and Landmark Commission, it mentions that the "hotel was built about 1888 soon after the Iron Mountain Railroad was built into Ft. Gibson to accomodate travelers using the railroad, and was built by Dr. R.O. TRENT, a physician residing at Ft. Gibson at the time."

The Federal Census always turns names into people for me, so in checking the 1900 Indian Territory Census I found the following:

Trent, Mollie; Ind. b. Dec 1859, 40 yrs. old, Widow, 4 children with 4 children living, Born in I.T. and is a hotel keeper

Children: Richard b. Jan 1881, 19 yrs. b. in I.T., Father born in Georgia, Mother born in I.T.

Martin b. Mar 1883, 17 yrs. b. I.T., occupation: day laborer, Indian name: Clu-Clu

Thomas b. May 1886, 14 yrs. b. I.T., Ind. name: Ta-mi

Also living in the hotel/home:

POPE, Fred, son-in-law, white, b. Mar 1872, 28 yrs old, married 6 yrs. occupation: day labor

- , Georgia, Indian, b. Feb. 1879, 21 yrs.
- , Clem, Ind. b. Jly 1845, 5 yrs.
- , Robt., Ind. b. May 1896, 4 yrs.
- , Madaline, Ind. b. June 1897, 2 yrs.

PADEN, Banks, servant, Black. b. Jan. 1864, 36 yrs old, b. in Ark, single

In checking the Ft. Gibson Cemeteries, I found: Dr. Richard TRENT, 1854-1888, Section E of the Civilian Cemetery. Apparently the good doctor died the same year that the hotel was built.

From the census we know Dr. Richard Trent was born in Georgia, as all of his children said their father was born in Georgia, as well as naming his first born daughter, Georgia. Mollie, his wife, was born in Indian Territory, as well as her father, but her mother was born in Georgia.

More research could be done, but even with this information I feel closer to that old hotel, knowing the people who built it and lived in it a little better.

Today the hotel has been repainted and folks are, once again, living in those rooms. I wonder if they know that Senator M.C. Butler, of South Carolina and his nephew, Hon. S.M. Rutherford, U.S. Marshall for the Northern District were visitors to the Trent Hotel in 1896? And how many other notable and not-so notable people spent their nights there while visiting historic Fort Gibson?? Only more research might tell!!

£ £ £ £ £ £ £ £

££££

£ £ £ £ £ £ £

## STAGE COACH LINES - 1862 - 1865

- 1. From Tahlequah to Okmulgee, going through Ft. Gibson and the Creek Agency; a stage coach pulled by four horses, owned by a Mr. STABLER, and driven by a man by the name of BATES, and Henry Scates (Scales?).
- 2. Lane City to Ottawa, Kan., owned by Sam HOLLADAY, and the drivers were Ad WARD and John HAMILTON.
- 3. Lane City to Garnett, Kan., owned by Geo. WASSON and driven by John HANWAY and Geo. LIEBER.
- 4. Lane City, through Osawatomie, Kan. to Paola, Kan. driven by DUBY, an Irishman, and Geo. BAKER. Mr. Baker's grandsons live in Dawson, Oklahoma.

...Interview with Dennis VANN, Cherokee Freedman, 1937

. @@@@@@

### School Books in the Creek Nation

Be it enacted by the National Council of the Muskogee Nation: That, after the passage of this bill, the following sets of textbooks shall be used in the neighborhood school of this nation, viz:

Harvey's Primer
Harvey's Revised Grammar
Ray's New Arithmetic
Eclectic Geographics
Eclectic History
Eclectic Copy Books

Appr'd Oct. 20, 1881 Enactments of the Natl. Council, Muskogee Nation

### Fort Gibson - 1915 Business Directory

Population, 900. Cherokee Nation. An incorporated town, located in the northern portion of the Indian Territory, near the line between the Cherokee and Creek Nations, 15 miles southeast of Wagoner, 69 miles northwest of Fort Smith, Ark., and 293 miles south of Kansas City. The National Cemetery is located here. The name of Fort Gibson is very familiar, having been head-quarters for a military reservation years ago; the barracks and some of the old buildings are standing there today. Grand River nearby affords unlimited water power; a rich agricultural country surrounds the town; has a good public school; Methodist, Presbyterian and Baptist churches, and a bank. A weekly newspaper, The Post, is issued. Ships cotton, hay, corn and potatoes. Mail, daily. Stage to Muskogee twice a day; fare, 75 cents; to Tahlequah, once a day; fare \$2.50 round trip. Tel., W.U. Exp., Pacific. Hubbard Ross, postmaster.

ADAIR, Mrs. L., hotel Bank of Ft. Gibson (capital \$25,000) R.E. BUTLER, Pres. P.L. PYLE, cash. BERD, John, drugs BOUDINOT, Frank J. lawyer BURDICK, I.D., physician BUTLER Mercantile Co. (C.W. TURNER, R.E. BUTLER), gen'l store and cotton. CARTER, Mrs. S.A., milliner Cherokee Telephone Co. Ed HICKS, mngr. COLEMAN, James, undertaker & contractor COOPER, Wm. M., blacksmith CROZIER, Rev. W.M. (Presby.) CUNNINGHAM, Thomas, city recorder DOWELL, M.D.L. notary public DREW, John T., lawyer Fort Gibson Post, J.S. HOLDEN FULLER, J.S., physician Hagood, A. Sidney, physician HASS, J.F., shoemaker HOLDEN, J.S., The Post & nursery HOWARD, J.M., physician International School for the Blind Miss Laura ROWLAND, prin. KIRK, George, stage line LANDWIRTH, J.L., genr'l store LYNCH, W.M., barber McBRIDE, W.D., hotel, insurance and notary McCALL, H. physician MARTIN, W.S., blacksmith MASTER, Wm., dentist MATHESON, A.R., drugs & books MAULDIN, Rev. H.L. (M.E. South) MAYER, M.J. & Co. (M.J. & Joseph Mayer) gen'l store MILLER, Harry, lumber

Missouri Pacific Hotel, James THORNE, propr. NASH, F.H., gen'l store & cotton NASH, W.S., gen'l store NICHOLSON, E.O., dentist PERRY, Geo. W., city marshal PYLE, P.L., notary ROSS, Hubbard, postmaster SCOTT, G.R., coal & notary public SCOTT, Walter, live stock SHAFFER, C.H., mayor, railroad & express agent. STEPHEN, J.D., blacksmith THOMPSON, G.W., restaurant THORNE, James. J. hotel THORNTON, Miss Flora, pin. public TURNER & JAMES, cotton gin U.S. Nat'l Ceme. W.W. MORRIS, keeper VAUGHN, J.M., grocer WALKER, Jack, hotel and meats WASS, W.S., saw mill WATERS-PIERCE Oil CO., F.H. Nash, agt WHITE, Mrs. E.P., milliner WILSON, John F., livery & stage line

INDIVIDUAL GRAVE RECORD BOOK NO# 1.

INDIAI	DUAL GRATE TE		
NAME OF DECEASED:	DATE OF DEATH:	PLACE OF DEATH:	AGE:
		NR	NR
Sherrod, A.W.	4-17- 1912	NR	NR
Sullivan, Robert	10-5- 1912		NR
Spradling, Byrd N.	10-11-1912	NR	NR
Schaley, Mrs.Phoebe	1- 3- 1913	NR	NR
Shunkay Possio Mrs	2- 3- 1913	NR	
Shunkey, Bessie, Mrs.	2- 9- 1913	NR	NR
Sliger,Fannie	5- 1- 1913	NR	NR
Stroupe, Levonia	6-21- 1913	NR	NR
Stark, George W.	7 00 4012	NR	NR
Sweet, C.A.	7-22- 1913	NR	NR
Smith, Claude B.	7-17- 1913		NR
Sanford, Floyd	7-18- 1914	NR	NR
Shelton, Sam Henry	1-11- 1915	NR	NR
Ctourst Doarl	1-27-1915	NR	NR
Stewart, Pearl	6-19- 1915	NR	
Sevall, Jimmie	7-16- 1915	NR	NR
Sullivan,Harry	7-16- 1915	NR	NR
Slater, Inf of Mrs.		NR	NR
Siebert, Walter	8-29- 1915	NR	NR
Staggs, Lewis /	10-20-1915		NR
Shull, Mattie	11-29-1915	NR	NR
Smith, D.C.	NR	NR	
Shackleford, Hat tie	10-16-1918	Muskogee	ŅR
Shackletord, had old	3-28-1919	NR	и .
Stout, Virginia	5- 5-1919		
Smith, Johnnie	6-30-1919	Muskogee	H
Shaw, M.E.√	8- 16-1919	NR	II .
Stites, Elmer		NR	11
Seahome, Andrew	1- 2-1920	NR	H
Sampson, Inf. of A.S.	1- 4-1920		H
Scofield, John Ervin	NR	NR	п
Simontors, H.W.	10-17-1919	NR	11
Shook, Olaf	6- 4-1920	NR	п
Show, Oldi	6-17-1920	Muskogee	u
Staggs, Annie Mrs.	7-10-1920	Muskogee	П
Smith, Vernon	9 -20-1920	NR	
Stansbery, W.T.	10- 8-1920	NR	II .
Spillers, A.M.			11
Stevens, Mrs. Opal	10- 6-1920	Muskogee NR	11
Smith, Sarah, Mrs.	11-20-1920		II .
Sanchez, HAROLD E.	12-30-1920	Muskogee	H ,
Straughos, Addie T.	2-15-1921	11	11
Stevenson, William A.	2-13-1921	· II	II
Stevenson, John C.	3- 3-1921	H	· ·
Stevenson, com o.	2- 4-1921	11	II.
Stoebting, Edward	2- 3-1921	NR	11
Sheedy, Larrie R.	11-20-1921	Muskogee	
Schult, John	8-20-1911	NR	II .
Sherrod, Inf.E.W.		NR	II .
Swearingren, Thomas	9-25-1911	NR	11
Shoot, Nexa	11-25-1911		ı. II
Snyder, Louis	12- 6-1919	NR	H
Sewell, Ella Mrs.	7- 7-1916	NR .	н
Strickland, Frank	2-24-1916	NR	
SUFFICE TAILS, Frank			

NR==Not Recorded

NAME OF DECEASED:	DATE OF DEATH:	PLACE OF DEATH:	AGE:
Stitler, Virgil H.	6-28-1916	NR	NR
Secor, Mrs.J.E.	1- 1-1916	NR	NR
Spann, William Edward	25-1917	Checotah	NR
Swafford, Willie	2- 9-1917	II .	6days
Smith, Antonia	4-21-1907	11	65
Scott, J.A.	6 -19-1917	11	NR
Smith, Maggie	6- 5- 1917	11	NR
Scocos, Totonla	6- 15-1917	11	NR
Schilt, Martha	7- 16-1917	. 11	NR
Smith, Ida Mrs.	7- 28-1917	11	NR
Spears, Inf. of K.B.	9- 8-1917	11	NR ·
St.Clair, Thom	10- 4-1917	11	NR
Shannahan,Richard 🗸	11-28-1917	11	NR
Spann, Inf of George	3-10-1918	11	NR
Stretch, Annie	4-21-1918	11	NR
Smith, S.P.Mrs.	7-21-1918	Muskogee	NR
Smith, J.R. ✓	11-28-1922	11	63
Smith, J.R.Mrs.	12-19-1929	11	70
Sills, Mrs.W.	2-25-1923	11	41
Sisco, Maggie	3-17-1923	11	NR
Stacy, Inf of C.A.	6-22-1923	11	II .
Stalcup,Mrs.Mary	7-26-1923	H .	II .
Steele,Sarah Jane	8-18-1923		II
Steele, John R.	12- 7-1923	11	66
Sipes, Joel D.	10-19-1923	11 °	NR
Sipes,Mrs.Joel	5 - 7-1923		
Sing, Lee Toy	11- 6-1923	Muskogee	54
Stretch, Inf of Geo.	12-11-1923	"	NR
Stokesbury, Lester L.	1-30-1924		NR
Schroyers, Anna	2-19-1924	11	II .
Sellers, James	2-25-1924	11	и
South, Hanna C.	3- 4-1924	II .	11
Smart.Phillip	7-15-1924	11	11
Shryack, inf of H.D.	9-25-1924	· · · · · · · · · · · · ·	11
Smith, Thomas	10-30-1924 11-29-1924	· u	II .
Stith, Joan	2- 22-1925	II .	39
Sharum, Allie Mrs.	2- 22-1925	II	NR
Swanson,Carl Roy Schwalk, Walter	4- 4 -1925	11	11
Stite, Inf of J.B.	5-31-1925	11	11
Scrogins, Asa	7-28-1925	i ii	56
Springer, Mrs. Josephine	5-19-1935	11	46
Staley, Jacqueline	8-31-1925	11	NR
Shelton, inf of London	1-25-1926	II .	II
Sage, Luis	2-21-1926	H	11
Sage, L.R., Mrs.	1- 1-1935	Yahola	и, — —
Smith, Zell D.	5-20-1926	11	H. J. J.
Smith, Anna	8-13-1926	11	11
Sharp, George E.	11-26-1926	Muskogee	H
Southerland, Inf of Leslie	11-14-1926	11	u II

NAME OF DECEASED:	DATE OF DEATH:	PLACE OF DEATH:	AGE:
Smith, Ella, Mrs. Smith, Bonnie R. Shunky, Edward E. Southerland, inf of Lester Sills, Mrs. Nellie Shelton, Louisa Simpson, Jessie Smith, Heat M. Snowden, Joe Sherman, Earnest Sizemore, Mary E. Sweeton, Fay Seward, Harlow Smith, B.F. Simpson, Mary Mrs. Simmons, Clement	DEATH: 6-7-1927 7-4-1927 10-9-1917		NR NR 1mo. 0 42 90 19 79 45 8 45 40 18 67 72 10 74 48 63 0 0 25 20 NR 71 8days NR 77 58 14 73 68 53 20 4mo. NR " " 0 5 16 1mo.
Smith, Karl W. Stuff, Richard W. Smith, Alfred E. Sweatt, George L. Shafer, Mollie, Mrs. Shaver, Franke V Satterwhite, John Y.	2 -12-1932 3 -26-1932 4 -21-1932 6- 14-1932 8-11-1932 2 -17-1933 6 -13-1933 8 - 4-1933	11 11 11 11 11	47 2mo. 3yrs 40 71 4mos.

## INDIVIDUAL GRAVE RECORD

BOOK NO# 1.

NAME OF DECEASED:	DATE OF DEATH:	PLACE OF DEATH:	AGE:
Simmons, Inf son of C.B.	10-30-1933	Muskogee	0
Silberhorn; Carl	11-26-1933	"	46
Spradling, Rachel E.	12-26-1933	н	72
Sutton, Joseph	2 -21-1933	11	74
Starnes, Starnes +	5 -12-1933	II .	76
Smith, Inf Dau of Elmer	7 -23-1933	11	0
" Son of Elmer	11 11	11	H · · ·
Stretch, Roy	11-13-1934	H .	17
Snyder, Emma Mrs.	2 - 3-1935	11	62
" H.S.	1 -21-1941	H	87
Sloan Edgar Scott	2 -16-1935	II.	49
Sevier,Daniel	2 -24-1935	II	65
Smith, Solol	8 -4 -1935 9 -29-1935	Ft.Gibson	54
Stevenson, Bertha	9 -29-1935	Muskogee	38
√Shaver.Marv J.	10- 9-1935	11	65
Sherrod George W.	11-15-1935	11	69
VSharfer, Inf of C.F.	12-22-1935 1 -30-1936	H	0
√Shaw, Jeanette	1 -30-1936	11	56
Shockensea, Ann J.	2 - 7-1936	11	82
Sykes, Florida Ethel	7-12-1936	H .	25
Sorrells, Sallie	7-20-1936	11	69
Sidebottom, Robert	8- 5-1936	11	6
Stucky, Minnie, Mrs.		11	67
	10- 6-1936	III	4mos
Satterfield, Inf. Dau.of E.V.	10-20-1936	II	2hrs.
Scott,Mathilda Mrs.	10-16-1936	II	66
Sutton, Ellie	11-26-1936	11	80
Shaw, Neva Mrs. Swafford, John W.	11-11-1936	11	52
Swafford, John W.	4 -19-1937	11	52
	4-17- 1937	11	58
	6 -4- 1937	II	72
Starr, Inf.son of Zack	7-15-1937	11	0
Schmitz, August	4 -22-1938	11	67
	4-26-1938	11	35
Swank, C.J.	9 - 4-1938	" 	86
Smith, Amanda C.	3- 5- 1939	11	86
Snow, Mary	9 -14-1939		9mos.
Smith, John Nelson	11- 7-1939	u i	66
Smith, Sarah, Mrs.	1- 12-1940	11	64
Smith, L.P. Mrs.	1-15-1940	n	64
Smith, Albert	10- 9- 1940	n	NR
Stuff, Ethel	2 - 4- 1940		46
Stevenson, Frank	4 -14- 1940	Legion, Texas	42
Stretch, Dottie	5 -20- 1940	Muskogee	54
Stansbury, Elizabeth Jane	8 -14- 1940	Muskogee	55
Snow, John Williams	10-19- 1940	Ft.Gibson	10mo
Spier, Inf of Mrs.Frank	11- 4- 1940	Muskogee	0
Springer, J.H.	11-7 - 1940 6- 4- 19 <b>4</b> 9	Muskogee	56 ₹5
Stiles, Claud	6 -27 - 1941	II .	89
Southworth, Margie Smith, John Leslie	8 -30 - 1941	H	8mos.
Silitori, Oomii Lesile	0 -30- 1341		Omos.

NAME OF DECEASED:	DATE OF DEATH:	PLACE OF DEATH:	AGE:
Stockton, Dock Snow, Jeane Shields, David Bruce Sheppard, Cecil Montelle Scison, Lawrence Silver, J.W. Smith,David Smothers, Norma May Sester, Willie Smith,Vernie Inf Dau. Smith,Mary A. Smothers,Norman Selph,Margaret E. Suppler, Edith Mrs. Stone, George Lee Saint, Donal Russel Stevens, Jewell Swim, Dennis W. Salyers, Marshell Sweatt, John WIlliams Simmons, Homer Edward Smith,James Mrs. Stuff, William Homer Stanberry, James P. Simmons, Lizzie Mills Sanders, Charlie Spaulding, Karne Sue Standridge, Jeff H. Sneed,Bell Spencer,Harvey	9-22-1941 12-22-1941 2 -2 -1942 2 -22-1942 5 - 5-1942 6 -24-1942 11-22-1943 5 - 7-1943 5 - 22-1943 5 -23-1943 5 -13-1944 4- 8-1944 4- 8-1944 7- 8-1944 7- 8-1945 11-13-1945 11-13-1946 12-10-1946 7 -9 -1947 3 -17-1948 12-21-1949 10-10-1950 7 -2 -1951 8-26- 1951 4 -10-1951 4 -1- 1952	Muskogee "" "" "" "" "" "" "" "" "" "" "" "" "	54 6mo 74 21 0 70 2 2mos 48 0 79 3mo 75 60 3 0 0 65 28 1 17 93 57 67 75 74 8mo 70 76 67
Summers, John	4- 16-1917	II	99
Tarkington, Inf of B. Thompson, Lwyn R. Tallman, Mrs. Maudona Thompson, John T. Taylor, Inf of J.T. Thurindu, child of H.C. Thatcher, Olive Leah Thatcher, J.H.C. Tooley, W.M. Tellman, Mrs. Tuckett, M.E. Tate, Edward Tucker, Tom Turner inf, N.C.	10-10-1909 10-26-1909 2 -22-1910 1- 18-1911 11-3 -1904 12-30-1905 10-15-1906 10-17-1913 12-24-1901 2- 2- 1908 3 -2 -1908 6 -11-1908 3-7- 1909 6-16- 1912	NR  11  11  11  11  11  11  11  11  11	NR 11 11 11 11 11 11 11 11 11 11

NAME OF DECEASED:	DATE OF DEATH:	PLACE OF DEATH:	AGE:
Taylor, Bertha	11-2 -1912	NR	NR
Tyron, Charles E.	2 -14-1913	H	H .
Turner, Inf of N.C.	6 -19-1913	11	11
Taylor, George L.	7 -17-1915	II .	II .
Taylor, inf. of A.B.	2 -26-1912	H.	H .
Timmons, Jim	11-13-1916	11	H
Thrower, Inf of Minnie	9 -19-1918	II .	II .
Tilman, R.H.	4 -18-1918	П	II .
Thomas, Alice	10-18-1918	п	II ,
Thrower Inf of A.	1 -1 -1919	п	т т
Thurman, Videria L.	2 -7- 1920	Muskogee	II .
Teater, Alice	4 -13-1920	ii.	19
Thurlow, Jas.	5 -13-1920	II .	NR
Taylor, June Mrs.	9-12-1920	н	11
Teasdal Inf of John	10-19-1920	11	0
Trible, James E.	9 -10-1921	11	NR
Taylor,Jess	6 -23-1923	11	п
Tarpley, Mrs. W.	7 -23-1923	П	II
Thompson, M.F.Mrs.	6 -26-1924	II-	II .
Thompson, James M.	6 - 4-1934	II	76 as shown
Thompson, Andrew	6 -26-1924	II .	11
Thomas, Martha	9 -26-1924	II ·	II
Tilley, Mrs. Pernello	5 -8 -1925	11	11
<u>"</u> ,John	7 -7 -1935	R M	" as shown
Turner, J.B.	10-12-1925	H i	II
Tayloer, Evaline	2 - 5-1927	II .	11
-	1 -22-1928	11	
Tatum, S.E.Mrs	1 -31-1929		70
Thurman, ALbert	1- 7 -1929		18
Tillitson, Jas. J.	3 -22-1929 10-11-1924	II	54 65
Thorne, Albert L.	9 - 4-1929	ш	68
Thompson,Albert Terrill, Devine	2 - 7-1930	11 :	65
Thomas, Moses E.	2 -19-1915	II .	NR
Tetsworth, Mather	1 -17-1931	П	55
Tally, Lula Mrs.	3-14 -1931	П	65
Talbot, R.C.	5- 13-1931	II .	71
Thomason, Goldie Mrs.	6 -6- 1931	11	26
Thomas, inf Dau of C.C	7 -7- 1931	H .	0
Turner, Jim	8-26-1931	II .	64
Turner, Lucy F.	3- 1 -1932	H	70
Tillery, Julius M, Jr.	5-04- 1932	ti .	5yrs
Taylor, Eula	6- 9 -1932	II ·	27
Thayer, H.G. Mrs.	4 -18-1933	II .	72
" H.G.	9 -30-1937	и -	85
Thompson, Joan Katherine	12- 5-1933	H .	0
Tindle, Pearl Mrs.	1- 26-1934	н	69
Tatum, John E.	9- 7-1934	ıı ,	84
Tomlin, John Francis	7- 6 -1935	II	59

NAME OF DECEASED:	DATE OF DEATH:	PLACE OF DEATH:	AGE:
Tilly, John M. Tillery, Inf Dau.of J.H. Taylor, Jackie Tompkins, Florence Turner, Elsie E. Turner, L.A. Tyson, G.S. Turney, Joseph C. Tatum, Dock Thomas, Patricia Joyce Turney, Ada Thomton, Thomas Teague, Essie Thom, George Toney, Bessie A. Toothaker, Baby Thomas, Amos Tipton, John Tharpe, Cliffon C. Terry, William Thompson, CHarles Thompson, Flossie Tash, Harrison Talbot, L.A. Tennison, Gladys Lawanna Tilley, Homer Madison Taylor, Nancy Ann Tribble, James William Tiffin, J.C. Terry, Thomas Newton	7 - 7-1935 2-20 -1936 6 -27-1936 12-14-1938 1 - 5-1919 12-14-1922 6-19-1919 11-10-1919 5-14-1939 11- 1-1939 2- 8-1940 11- 5-1940 12-29-1940 11-5-1941 7- 1-1942 3-17-1943 8- 7-1941 1-23-1944 10-21-1945 8-20-1945 11- 5-1945 11- 5-1945 11-28-1946 1-13-1947 9-17-1947 3-11-1948 2- 4-1949 11-21-1949	Muskogee "" "" "" "" "" "" "" "" "" "" "" "" "	80 0 NR 52 34 43 NR " NR 4 51 91 55 87 40 0 88 63 70 75 49 46 79 23 66 1da 65 76 68
Urich, Sophia Mrs. ", George Uhland, Henry Upton, Inf son of James	1-26-1936 8- 3-1942 12- 8-1941 9- 9-1944	Muskogee Boynton Muskogee	0 87 77 0
V indon, Jim Vanderson, William A. Van Pelt, Edward Vochas, Charles Vance inf of S.S. Vernor, Bernard Vickery, Jessie Vandiver, Lelah Vest, Lottie Vickory, Edgar Vogel, Nancy, Mrs. VanDyke, Ruth Vallijo, Mary Rosa	2- 7-1914 4-27-1907 3-13-1915 12-24-1914 4-14-1905 6-10-1906 11-17-1907 6-20-1916 4-17-1918 11-19-1918 3-31-1924 10-28-1921 7-15-1925	NR UR NR	NR

NAME OF DECEASED:	DATE OF DEATH:	PLACE OF DEATH:	AGE:
Verdeman, Claude Phillip	1-13-1926	Muskogee	NR
Van Brunt, Herbert	3-31-1920	II .	tf
	6-27-1926	H	II .
Vise,Charles H. Van Dyke,Adelaide	10-2-1928	п	11
Vance, Ila Rose	1-15-1929	П	11mos
Vallijo, Hectres	11-5-1929	H	33
Vallejo, Dau jr,	4 -8-1930	и	18mo
Valentine, Richard	5-23-1930	II .	17da
Van Winkle, Frank E.	11-20-1931	и	48
Van Horn, Archie	1-1-1933	11	3yrs
Victory, Inf s of George W.		II .	0
Vandress, Matt	6-12-1934		58
Vance, Dora	12-11-1934	11	60
Vance, Therodora	6-25-1935	II .	11/2
Vaught, John	1-30-1940	H	68
Vollbon, Gus	1-29-1943	,H	81
VanDYke, Alice	10-31-1935	11	68
Vance, Wilton	7-20-1943	П	79
Vann, Inf s of George	6-17-1944	И	0
Winsel, Marie	12-21-1911	, II	NR
Whittier, Inf of Charles	6-28-1912	II .	II
Weens, Louise	2-18-1913	H	II
Ward,Martha	9-8-1913	II	II
Webster, Ward B.	12-24-1913	H .	11
White, F.S.	3-7-1916	11	II II
Wilson, M.K.	4-1-1914	11	"
Wright, P.C.	7-11-1914	II	II
Williams, Harry Lee	2-4-1914	II	II
Woods, Jefferson	5-30-1915	11	11
Waitman, Elender	8-1-1915	II .	II
Welch, Joseph	8-7-1915	H	11
Workman, Albert	12-24-1915	11	11
Wilkerson, Inf of W.	1-5-1916	11	11
Winford, John	3-30-1916 10-30-1910	11	11
Woodward, Inf of Pearl Williams, Louise, Mrs.	12-17-1910	11	п
Woster, Inf of D.W	2-25-1911	II .	H
Waite, John	5-9-1911	п	11
White, Orville	6-3-1911	II	· · · · · · · · · · · · · · · · · · ·
Westlife, Mollie May	7-30-1911	II	II .
Winter, Frank	7-24-1911	ŢŢ.	II
Watson, Inf of W.T.	10-7-1911	11	II
Wright, James R.	10-1-1903		H
Wyatt, Thomas	12-10-1918	п	п
White, Maggie Mrs.	1-4-1919	- 11	П

## INDIVIDUAL GRAVE RECORD

BOOK NO# 1.

NAME OF DECEASED:	DATE OF DEATH:	PLACE OF DEATH:	AGE:
uilliame D.E. Mrs	1-19-1919	Muskogee	NR
Williams,R.E.Mrs. Waiford,Brida	1-15-1919	II .	11
Wood, Edith Virginia	2-7-1919	11	II
Worley, Harrold Lee	3-1-1919	II	II ·
Williams, Baby	5-29-1919	II	II
Worley, Mary	2- 9-1920	П	II
Wornich baby Stanley	2-12-1920	п	11
WIlson, Maggie	9-21-1919	П	II 
Wilson, child of T.	8-27-1919	· II	11 11
Walter, infoof Z.A	8- 2-1920	· II	11
Waterman, Edith Mrs.	2-19-1921	II	11
Waterman, Minnie	2-19-1921	11	
Woodson, Agnes	10-27-1912	H H	11
Williams, W.S. Mrs.	3-14-1929	11	II .
Waffle, Élmira Mrs.	6-17-1922		11
Wiggins, Robert	1- 5-1923	11	II
Woolverton, Ruth Miss	8-12-1923	11	11
Wasker, Samuel T	8-21-1923	11	11
Wagther, Inf of S.F.	9-24-1923	11	п
Winters, Maggie Mrs.	9-13-1923	" II	
Warden, inf of John	8-31-1921	11	II.
Wilson,Inf of J.A.	2-10-1905	II	11
Wallner,Child of Gus	3-14-1905	11	II.
Wallace,Hattie	7-26-1906	11	, и
Watthall, Cora Mrs.	7-27-1906	11	11
Wheeler, W.	8-11-1906	П	11
Wiseman, Madaline	1-23-1907 6-23-1907	H ·	11
Wallace, Inf of J.C.	10-30-1907	· H	11
Wroughton, Dr.John H.	3-7-1909	н	H
Wilson, Lela	9-20-1916	. H 🕜	If
Wheeler, Charles W.	11- 5-1916	11	59
Wood, A.T.	11- 6-1916	н	84
Wright, Anderson P.	2- 4-1917	II .	68
Watson, Henry	2- 7-1917	II .	4
Wood, Monon Watson,Homor	Vacant		
Wilson, Sarah	5- 5-1917	u u	NR
Walden, Nancy A.	12- 7-1917	11	NR
Wright, Inf of J.N.	1- 1-1918	H	n II
		II	II.
Ward, Lee	4- 4-1918	П	п
Wass, C.	6-19-1918	11	II .
Wines, Oscar A.	8- 5- 1918	П	ŢII.
Waters, Mary Katherine	9-23-1918	11	11
West, Inf of W.S.	10- 6-1918	II	21
Wah, Jarry Kay	10-18-1918	11	40
Watson, Maude, Mrs.	10-28-1923	II .	NR NR
Webster, Eli W.	4-17-1924	II .	55
Weir, Emma Alice	6- 2-1924		55



NAME OF DECEASED:	DATE OF DEATH:	PLACE OF DEATH:	AGE:
Westmoreland, Robert	8-6-1924	Muskogee	NR
Wisdom, Morgon, Inf.	8-21-1924	ü	0
Wilkinson, Earl Edwin	11-20-1924	11	II
Wilson, Abner K	1-26-1925	II	II
Wetzel, James Henry	2-19-1925	11	II .
Wetz, George A.	3-2-1925	ii .	11
Wetz, Emma, Mrs.	3-21-1925	II .	II
Wegman, E.T.Mrs.	6-27-1925	Kansas City, Mo.	39
	9-20-1925	Muskogee	24
White lames	10-22-1925	Muskogee	NR
White, James		nuskogee "	65
Waitmans, G.	12-3-1925	ii	11
Wilbur, N.P.	1 -6- 1925	II .	67
, , , , , , , , , , , , , , , , , , , ,	1-20-1927	II .	07
Washburn, A.P.	2- 1-1927	11	11
William, Dave	2- 7-1927	и	11
Wade, Wanda Gean	5-31-1927		
Wilky, Nonna(Norma)	6-10-1927	11	
Whitby, Genby P.	6-12-1927	II .	11
Wilkey, Bettie	9- 8-1927	Muskogee	3
Wren, John C.	10-22-1927	II .	67
William, Barby	12-24-1927	11	67
Walker, George	1-22-1928	11	75
Wallace, Artie Lee	2- 5-1928	II .	NR
Wynn, Rufus	3-16- 1928	11	30
Wilson,Hallie Mrs.	6-16- 1928	II	57
Williams, William Ellis	7- 2- 1928	П	17
Wilkerson, Jim	7- 2- 1928	н	80
Webster, Nellie Mrs.	8- 6- 1928	H	41
Wallace, Thomas	8-29- 1928	п	90?
Wooten, James	9-18- 1921	II	30
Whitlock, Minerva Mrs.	9-21- 1928	II .	28
White, I.	11-21-1928	П	71
	1- 7-1929	II	2
Ward, Eunice	1- 28-1929	II	14
Watts, Larene	3- 27-1929	н	65
Williams, Bud		11	33
Waterman, Nettie	4-20- 1929	II.	
Wilson, R.J.	7- 4-1929	Ш	74
Williams, Laura Mrs.	7- 6- 1929	11	31
Wilson, Lucy Effie Mrs.	9-14-1929	11	38
Willis,Myrtle	9-12- 1929		16
West, J.E.	10- 3- 1929	11	73
Whitley, inf son of C.R.	10-21-1928	11	0
Weddle, Frances Louise	1-29-1929	, II	NR
Wheeler, Imogene	11-24-1929	11	4
Wooten, Inf Clarence	11-10-1929	H	NR
Webster, Vivian	1-29-1930	П	21
Waiter, Lester	2-23-1930	П	23
Wilbourne, inf G.E.	2-23-1930	II .	0

NAME OF DECEASED:	DATE OF DEATH:	PLACE OF DEATH:	AGE:
Ward, W.C.	5 -10-1930	Muskogee	73
	5 -8- 1930	Keefton	46
Willey, Emma Wilson, J.W.	6-16-1930	Muskogee	NR
Wood, William	6-15-1930	11	11
Whittlesey, Inf D. Frank	12- 9-1930	11	0
T-C -C 0 1	12 10 1020	11	II .
Wood, J.E.	2-19-1931	11	NR
" Mrs.J.F.	2-19-1931 2-19-1939 6-20-1931	11	11
Wallace, Robert	6-20-1931	II .	11
White, inf d. of Lonnie		11	0
Woodard, Nan	9-3- 1931	II .	5days
Williams, Joseph	9-5-1931	11	30
White, Matthew	10-4-1931	II .	45
Wing James	10-22- 1931	11	55
Weaver Maude Mrs.	12-31-1931	11	53
Webb. Nancy Jane	6-25-1932	11	79
Wilson, Henry H.	6-26-1932	11	76
Wilson, Jose Mrs.	2- 5-1932	11	79
Wagoner, Barnie	7-8- 1932	11	35
	12- 8- 1932	•	78
Womack, J.Harry	12-21-1932	11	51
Willis, Fr ances Texas	1- 1-1933		3yr
Way, Dr.C.C.	2- 6-1933	II .	58
Whitmer, Charles	4-30-1933	II	46
Whittinger, Orvall	6- 2- 1933	П	8
Warner, John Franklin	6-19-1933	H	3da
Westervelk, inf s. of Jason/	7-27-1933	11	0
Wilson, Williams	8-23-1933	II	65
Whitten, Earnest Lee	9-23-1933		1mo
Whitemire ,Wm.W.	10-11-1933	II II	40 7hns
Whitby, Inf son of Stanley	11-18-1933		7hrs 62
Wongley,Emma C.	12- 1-1933	11	75
Weldon, W.F.Mrs.	3-18-1934	11	63
Ware, Oliver	3-22-1934	11	31
White, Thomas	7-14-1934	: 11	10
Wooley, Wayne J.	5- 7-1934	II	78
Weeks. Mathew F.	12-25-1934	II.	0
Wilson, J.C.	2-16-1935	11	0
Wilson, Inf son Ray	2-25-1935	u ·	5mo
Whittington, Viola	4-15-1935 5-12-1935	11	85
Wilson, Herritt	5-12-1935	Ada,Ok.	25
Watson, Erma V	6- 6-1935	Muskogee	52
Weaver, Hesnry E.	9- 3-1935	ii	42
Wager, F.L.	9-3-1935	II.	0
Wood, Don	10-22-1935	ii .	7mos
Williams, Betty Lou	2- 7-1936	H	39
Weeks, Mayonna Mrs.	7- 1-1936	H .	52
Wells, Anna	/- 1-1330		<u> </u>

Wells, Owen 7 - 7-1936 Muskogee 66 Williams, Walter S. 8 -9-1936 " 58 Walker, Silvia 8-9-1936 " 2 Ward, inf s of Homer 9-11- 1936 " 0 Whitsport, Edward H. 11-7- 1936 " 2m0 Whitsett, Josephine 2-10-1937 " 80 Wagoner, Lafayette 4- 14-1937 " 85 Wagoner, Lafayette 1941 " 85 Williams, Frank 7-17- 1937 " 54 Williams, Frank 7-21- 1937 " 64 Woodard, Velma Zu 9- 3- 1937 " 66 Wolte, W.A. 1-14- 1937 " 66 Wingo, Martin J. 11-12- 1937 " 68 Wood, John 4-30- 1938 " 48 Wood, Farley E. 9-24-1938 " 68 Wood, Farley E. 9-24-1938 " 56 William, inf d.of Luther 12-14-1938 " 84a Wood, Farley E. 9-24-1938 " 56 William, inf d.of Luther 12-14-1938 " 70 Watts, Silas J. 4-25- 1940 " 69 Watts, Mitchell L. 10- 2- 1940 " 69 Watts, Mitchell L. 10- 2- 1940 " 69 Walts, James Allen 9-30-1940 Claremore 85 Walts, James Allen 9-19-1941 " 88 Wooley, Barbara Ann 9-30-1940 Claremore 85 Walts, James Allen 9-19-1941 " 88 Wooley, Barbara Lee 42-8- 1941 " 64 Whitby, Gerthies 2-16-1942 " 53 Wells, James Allen 9-19-1941 " 64 Whitby, Gerthies 2-16-1942 " 53 White, Ila May 6-1-1942 " 75 Walder, James Lee 5-17-1942 " 75 Walder, James Lee 5-17-1942 " 75 Walliams, Tom 1-12-1942 " 75 Walliams, Tom 1-12-1942 " 72 Whittington, Donald J. 12-14-1942 " 75 Walliams, Tom 4-22-1944 " 75 Walliams, Tom 1-2-1943 " 70 Williams, Tom 1-2-1943 " 70 Wood, Cecil Leonard 8-5-1943 " 70 Wood, Cecil Leonard 8-5-1942 " 75 Walliams, Tom 1-2-1942 " 75 Walliams, Tom 1-2-1943 " 75 Walliams, Virgil Eugene 1-20-1943 " 70 Wood, Nancy Jane 1-2-27- 1943 " 70 Wood, Nancy Jane 1-2-27- 1943 " 70 Washington, Shirley 3-20-1944 " 76 Whites, Reuben Larry 2-14-1944 " 76 Woody, Nancy Jane 1-2-27- 1944 " 78 Woody, Nancy Jane 1-2-27- 1944 " 78 Woody, Nancy Jane 1-2-27- 1944 " 78 Woody, Washington, Shirley 3-20-1944 " 79 Walliams, Cora 6-22-1944 " 79 Walliams, Cora 6-22-	NAME OF DECEASED:	DATE OF DEATH:	PLACE OF DEATH:	AGE:
williams, Walter S.         8 -9-1936         "         2           Walker, Silvia         8-19-1936         "         2           ward, inf s of Homer         9-11-1936         "         0           whittstington, Edward H.         11-7-1936         "         2m0           whittsty, Josephine         2-10-1937         "         80           ", Oliver C.         2-14-1943         "         88           Magoner, Lafayette         4-14-1937         "         85           Whinery, Shirley inf of A.E.         5-5-1937         "         18hrs           williams, Frank         7-27-1937         "         42           Woodard, Velma Zu         9-3-1937         "         66           Wingo, Martin J.         11-12-1937         "         68           Wiolsey, John         4-30-1938         "         48           Woolsey, John         4-30-1938         "         48           William, inf d.of Luther         2-24-1938         "         68           William, inf d.of Luther         2-14-1938         "         0           William, inf d.of Luther         2-16-1940         "         69           WELLS Fred         5-10-1940         "         69	Wells.Owen	7 - 7-1936	Muskogee	66
Walker, Silvia       8-19- 1936       "       2         Ward, inf s of Homer       9-11- 1936       "       0         Whittington, Edward H.       11-7- 1936       "       2m0         Whittsett, Josephine       2-10-1937       "       80         " , Oliver C.       2-14-1943       "       88         Wagoner, Lafayette       4- 14-1937       "       85         Whinery, Shirley inf of A.E.       5- 5-1937       "       18hrs         Williams, Frank       7-17- 1937       "       54         Fima       7-21- 1937       "       42         Moodard, Velma Zu       9- 3- 1937       "       6mo         White, W.A.       1-14- 1937       "       66         Wingo, Martin J.       11-12- 1937       "       68         Woolsey, John       4-30- 1938       "       48         Whittington, Odel Wayde       7-27-1938       "       8da         Woot, Farley E.       9-24-1938       "       56         William, Inf d.of Luther       12-14-1938       "       0         Winery, Sharon Nell       2-26-1939       "       7mo         Watts, Silas J.       4-25-1940       "       69				58
Ward, inf s of Homer         9-11-1936         "         2m0           Whitsett, Josephine         2-10-1937         "         2m0           whitsett, Josephine         2-10-1937         "         88           Wagoner, Lafayette         4-14-1937         "         85           Whinery, Shirley inf of A.E.         5-5-1937         "         18hrs           Williams, Frank         7-17-1937         "         42           Moodard, Velma Zu         9-3-1937         "         66           Wingo, Martin J.         11-12-1937         "         66           Wingo, Martin J.         11-12-1937         "         68           Woolsey, John         4-30-1938         "         48           Whittington, Odel Wayde         7-27-1938         "         8da           Woolsey, John         4-30-1938         "         48           Whittington, Odel Wayde         7-27-1938         "         8da           Wooley, Farley E.         9-24-1938         "         0           William, inf d. of Luther         12-14-1938         "         0           William, Silas J.         4-25-1940         "         69           WellLI, Sarbara Ann         9-30-1940         "			II .	2
Whittington, Edward H.         11-7- 1936         "         2m0           Whitsett, Josephine         2-10-1937         "         80           ", oliver C.         2-14-1943         "         88           Wagoner, Lafayette         4-14-1937         "         85           Whinery, Shirley inf of A.E.         5-5-5937         "         18hrs           Williams, Frank         7-17- 1937         "         54           ", Emma         7-21- 1937         "         42           Woodard, Velma Zu         9-3- 1937         "         66           Whitte, W.A.         1-14- 1937         "         68           Moolsey, John         4-30- 1938         "         48           Whittington, Odel Wayde         7-27-1938         "         8da           Woot, Farley E.         9-24-1938         "         56           William, Inf d.of Luther         12-14-1938         "         0           William, Sharon Nell         2-26-1939         "         7mo           Watts, Silas J.         4-25- 1940         "         69           Wells, Barbara Ann         9-30-1940         Claremore         85           Watts, Mitchell L.         10- 2- 1940         Vinita			11	0
Whitsett, Josephine	Whittington, Edward H.	11-7- 1936	H	2m0
Nagoner, Lafayette	Whitsett, Josephine		II de la companya de	80
Wagoner, Lafayette       4- 14-1937       "       85         Whinery, Shirley inf of A.E. 5- 5-1937       "       18hrs         Williams, Frank       7-17- 1937       "       54         ", Emma       7-21- 1937       "       42         Moodard, Velma Zu       9- 3- 1937       "       66         Wingo, Martin J.       11-12- 1937       "       68         Moolsey, John       4-30- 1938       "       48         Mhittington, Odel Wayde       7-27-1938       "       8da         Mood, Farley E.       9-24-1938       "       56         William, inf d.of Luther       12-14-1938       "       0         Winery, Sharon Nell       2-26-1939       "       7mo         Watts, Silias J.       4-25- 1940       "       69         WELLS Fred       5-10- 1940       "       69         Wooley, Barbara Ann       9-30-1940       Claremore       85         Watts, Mitchell L.       10- 2- 1940       Vinita       40         Williams, John       2- 5- 1941       Muskogee       61         WATERS Paul       8-24- 1941       "       88         Wolverton, Joseph Edward       11-13-1941       "       2	" ,Oliver C.		H	88
Whinery, Shirley inf of A.E. 5- 5-1937	Wagoner, Lafayette	4- 14-1937	H	85
Milliams, Frank		. 5- 5-1937	H	18hrs
Moodard, Velma Zu			11	54
Molter, W.A.	, Emma	7-21- 1937		42
Mhite, M.A.	Woodard, Velma Zu	9- 3- 1937		6mo
Wingo, Martin J.		1-14- 1937	11	66
Woolsey, John       4-30-1938       "       48         Whittington, Odel Wayde       7-27-1938       "       8da         Wood, Farley E.       9-24-1938       "       56         William,inf d.of Luther       12-14-1938       "       0         Winery,Sharon Nell       2-26-1939       "       7mo         Watts, Silas J.       4-25-1940       "       69         Wooley,Barbara Ann       9-30-1940       Claremore       85         Watts, Mitchell L.       10-2-1940       Vinita       40         Williams, John       2-5-1941       Muskogee       61         MATERS Paul       8-24-1941       "       53         Wells, James Allen       9-19-1941       "       88         Woolverton, Joseph Edward       11-13-1941       "       2         Warren, A.W.       12-2-1941       "       64         Whitby, Gerthies       2-16-1942       "       53         Wheeler, James Lee       5-17-1942       "       2mo         Walderone, Isabel       4-28-1942       "       6mo         Woodward, William M.       5-31-1942       "       75         Walling, Ella May       6-1-1942       "       73		11-12- 1937	II	68
Whittington, Odel Wayde       7-27-1938       "       8da         Wood, Farley E.       9-24-1938       "       56         William, inf d.of Luther       12-14-1938       "       0         Winery, Sharon Nell       2-26-1939       "       7mo         Watts, Silas J.       4-25-1940       "       69         Wells Fred       5-10-1940       "       69         Wooley, Barbara Ann       9-30-1940       Claremore       85         Watts, Mitchell L.       10-2-1940       Vinita       40         Williams, John       2-5-1941       Muskogee       61         WATERS Paul       8-24-1941       "       53         Wells, James Allen       9-19-1941       "       88         Woolverton, Joseph Edward       11-13-1941       "       2         Warren, A.W.       12-2-1941       "       64         Whitby, Gerthies       2-16-1942       "       64         Whitby, Gerthies       2-16-1942       "       53         Wheeler, James Lee       5-17-1942       "       2mo         Walderone, Isabel       4-28-1942       "       6mo         Woodward, William M.       5-31-1942       "       75		4-30- 1938	II	48
Wood, Farley E.         9-24-1938         "         56           William, inf d.of Luther         12-14-1938         "         0           Winery, Sharon Nell         2-26-1939         "         7mo           Watts, Silas J.         4-25-1940         "         69           WELLS Fred         5-10-1940         "         69           Wooley, Barbara Ann         9-30-1940         Claremore         85           Watts, Mitchell L.         10-2-1940         Vinita         40           Williams, John         2-5-1941         Muskogee         61           WATERS Paul         8-24-1941         "         53           Wells, James Allen         9-19-1941         "         88           Woolverton, Joseph Edward         11-13-1941         "         2           Warren, A.W.         12-2-1941         "         64           Whitby, Gerthies         2-16-1942         "         53           Wheeler, James Lee         5-17-1942         "         2mo           Walderone, Isabel         4-28-1942         "         6mo           Woodward, William M.         5-31-1942         "         75           Walling, Ella May         6-1-1942         "         75		7-27-1938	II	8da
Winery, Sharon Nell 2-26-1939 " 7mo Watts, Silas J. 4-25- 1940 " 69 WELLS Fred 5-10- 1940 " 69 Wooley, Barbara Ann 9-30-1940 Claremore 85 Watts, Mitchell L. 10- 2- 1940 Vinita 40 Williams, John 2- 5- 1941 Muskogee 61 WATERS Paul 8-24- 1941 " 53 Wells, James Allen 9-19-1941 " 88 Woolverton, Joseph Edward 11-13-1941 " 2 Warren, A.W. 12 -2- 1941 " 64 Whitby, Gerthies 2-16-1942 " 53 Wheeler, James Lee 5-17-1942 " 2mo Walderone, Isabel 4-28 -1942 " 6mo Woodward, William M. 5-31- 1942 " 75 Walling, Ella May 6- 1- 1942 " 73 Wood, Cecil Leonard 8- 5- 1942 " 6%hrs Welch, Tim J. 11 -9- 1942 " 75 Wagoner, Bob 11-12-1942 " 75 Walliams, Tom 1-24-1943 " 82 Williams, Tom 1-24-1943 " 82 Williams, Tom 1-24-1943 " 70 Werks, Mary Ann 7-27- 1943 " 70 Wass, Charles F. 12-23-1943 " 76 Whoody, Nancy Jane 12-27- 1943 " 76 White, Reuben Larry 2-14-1944 " 5mos Washington, Shirley 3-20-1944 " 4 Wingo, Ida Mrs. 4-13-1944 " 58	Wood, Farley E.	9-24-1938		56
Winery, Sharon Nell         2-26-1939         "         7mo           Watts, Silas J.         4-25-1940         "         69           WELLS Fred         5-10-1940         "         69           Wooley, Barbara Ann         9-30-1940         Claremore         85           Watts, Mitchell L.         10-2-1940         Vinita         40           Williams, John         2-5-1941         Muskogee         61           WATERS Paul         8-24-1941         "         53           Wells, James Allen         9-19-1941         "         88           Woolverton, Joseph Edward         11-13-1941         "         2           Warren, A.W.         12-2-1941         "         64           Whitby, Gerthies         2-16-1942         "         53           Wheeler, James Lee         5-17-1942         "         2mo           Walderone, Isabel         4-28-1942         "         6mo           Woodward, William M.         5-31-1942         "         75           Walling, Ella May         6-1-1942         "         73           Wood, Cecil Leonard         8-5-1942         "         6%hrs           Welch, Tim J.         11-9-1942         "         75	William, inf d.of Luther	12-14-1938	II	
Watts, Fred       5-10-1940       "       69         Wooley, Barbara Ann       9-30-1940       Claremore       85         Watts, Mitchell L.       10-2-1940       Vinita       40         Williams, John       2-5-1941       Muskogee       61         WATERS Paul       8-24-1941       "       53         Wells, James Allen       9-19-1941       "       88         Woolverton, Joseph Edward       11-13-1941       "       2         Warren, A.W.       12-2-1941       "       64         Whitby, Gerthies       2-16-1942       "       53         Wheeler, James Lee       5-17-1942       "       2mo         Walderone, Isabel       4-28-1942       "       6mo         Woodward, William M.       5-31-1942       "       75         Walling, Ella May       6-1-1942       "       73         Wood, Cecil Leonard       8-5-1942       "       6%hrs         Welch, Tim J.       11-9-1942       "       75         Wagoner, Bob       11-12-1942       "       72         Whittington, Donald J.       12-14-1942       "       9         Williams, Virgil Eugene       1-20-1943       "       0 <td>Winery, Sharon Nell</td> <td>2-26-1939</td> <td></td> <td>7mo</td>	Winery, Sharon Nell	2-26-1939		7mo
Wooley, Barbara Ann         9-30-1940         Claremore         85           Watts, Mitchell L.         10-2-1940         Vinita         40           Williams, John         2-5-1941         Muskogee         61           WATERS Paul         8-24-1941         "         53           Wells, James Allen         9-19-1941         "         88           Woolverton, Joseph Edward         11-13-1941         "         2           Warren, A.W.         12-2-1941         "         64           Whitby, Gerthies         2-16-1942         "         53           Wheeler, James Lee         5-17-1942         "         2mo           Walderone, Isabel         4-28-1942         "         6mo           Woodward, William M.         5-31-1942         "         75           Walling, Ella May         6-1-1942         "         73           Wood, Cecil Leonard         8-5-1942         "         6%hrs           Welch, Tim J.         11-9-1942         "         75           Wagoner, Bob         11-12-1942         "         72           Whittington, Donald J.         12-14-1942         "         9           Williams, Virgil Eugene         1-20-1943         "	Watts, Silas J.	4-25- 1940		
Watts, Mitchell L. 10- 2- 1940 Vinita 40 Williams, John 2- 5- 1941 Muskogee 61 WATERS Paul 8-24- 1941 " 53 Wells, James Allen 9-19-1941 " 88 Woolverton, Joseph Edward 11-13-1941 " 2 Warren, A.W. 12-2- 1941 " 64 Whitby, Gerthies 2-16-1942 " 53 Wheeler, James Lee 5-17-1942 " 2mo Walderone, Isabel 4-28 -1942 " 6mo Woodward, William M. 5-31- 1942 " 75 Walling, Ella May 6- 1- 1942 " 75 Walling, Ella May 6- 1- 1942 " 75 Walling, Ella May 6- 1- 1942 " 75 Wagoner, Bob 11-12-1942 " 75 Wagoner, Bob 11-12-1942 " 72 Whittington, Donald J. 12-14-1942 " 9 Williams, Tom 1-24-1943 " 82 Williams, Virgil Eugene 1-20-1943 " 82 Williams, Virgil Eugene 1-20-1943 " 70 Woodall, Tommy Wayne 6-15- 1943 " 70 Wass, Charles F. 12-23-1943 " 68 Woody, Nancy Jane 12-27- 1943 " 76 White, Reuben Larry 2-14-1944 " 5mos Washington, Shirley 3-20-1944 " 4 Wingo, Ida Mrs. 4-13-1944 " 82 Williams, Cora 6-22-1944 " NR Watson, W.H. 7-31-1944 " 82	-WELLS Fred			
Williams, John       2- 5- 1941       Muskogee       61         WATERS Paul       8-24- 1941       "       53         Wells, James Allen       9-19-1941       "       88         Woolverton, Joseph Edward       11-13-1941       "       2         Warren, A.W.       12 -2- 1941       "       64         Whitby, Gerthies       2-16-1942       "       53         Wheeler, James Lee       5-17-1942       "       2mo         Walderone, Isabel       4-28-1942       "       6mo         Woodward, William M.       5-31- 1942       "       75         Walliam, Ella May       6- 1- 1942       "       73         Wood, Cecil Leonard       8- 5- 1942       "       6%hrs         Welch, Tim J.       11 - 9- 1942       "       75         Wagoner, Bob       11-12-1942       "       72         Whittington, Donald J.       12-14-1942       "       9         Williams, Virgil Eugene       1-24-1943       "       82         Williams, Virgil Eugene       1-20-1943       "       0         Woodall, Tommy Wayne       6-15- 1943       "       7wks         Werks, Mary Ann       7-27- 1943       "       5				
WATERS Paul 8-24- 1941 " 88 Wells, James Allen 9-19-1941 " 88 Woolverton, Joseph Edward 11-13-1941 " 2 Warren, A.W. 12 -2- 1941 " 64 Whitby, Gerthies 2-16-1942 " 53 Wheeler, James Lee 5-17-1942 " 2mo Walderone, Isabel 4-28 -1942 " 6mo Woodward, William M. 5-31- 1942 " 75 Walling, Ella May 6- 1- 1942 " 73 Wood, Cecil Leonard 8- 5- 1942 " 6%hrs Welch, Tim J. 11 -9- 1942 " 75 Wagoner, Bob 11-12-1942 " 72 Whittington, Donald J. 12-14-1942 " 9 Williams, Tom 1-24-1943 " 82 Williams, Virgil Eugene 1-20-1943 " 9 Williams, Virgil Eugene 1-20-1943 " 70 Woodall, Tommy Wayne 6-15- 1943 " 70 Werks, Mary Ann 7-27- 1943 " 70 Wass, Charles F. 12-23-1943 " 68 Woody, Nancy Jane 12-27- 1943 " 76 White, Reuben Larry 2-14-1944 " 5mos Washington, Shirley 3-20-1944 " 78 Wingo, Ida Mrs. 4-13-1944 " 78 Williams, Cora 6-22-1944 " 78 Watson, W.H. 7-31-1944 " 82				
Wells, James Allen       9-19-1941       "       88         Woolverton, Joseph Edward       11-13-1941       "       2         Warren, A.W.       12 -2- 1941       "       64         Whitby, Gerthies       2-16-1942       "       53         Wheeler, James Lee       5-17-1942       "       2mo         Walderone, Isabel       4-28 -1942       "       6mo         Woodward, William M.       5-31- 1942       "       75         Walling, Ella May       6- 1- 1942       "       73         Wood, Cecil Leonard       8- 5- 1942       "       6%hrs         Welch, Tim J.       11 -9- 1942       "       75         Wagoner, Bob       11-12-1942       "       72         Whittington, Donald J.       12-14-1942       "       9         Williams, Tom       1-24-1943       "       82         Williams, Virgil Eugene       1-20-1943       "       0         Woodall, Tommy Wayne       6-15- 1943       "       7wks         Werks, Mary Ann       7-27- 1943       "       3mos         Wilcox, Walter       8- 1943       "       50         Wass, Charles F.       12-23-1943       "       68 </td <td></td> <td></td> <td></td> <td></td>				
Woolverton, Joseph Edward 11-13-1941 " 2 Warren, A.W. 12-2- 1941 " 64 Whitby, Gerthies 2-16-1942 " 2mo Walderone, Isabel 4-28 -1942 " 75 Walling, Ella May 6- 1942 " 75 Walling, Ella May 6- 1- 1942 " 73 Wood, Cecil Leonard 8- 5- 1942 " 75 Wagoner, Bob 11-12-1942 " 75 Wagoner, Bob 11-12-1942 " 72 Whittington, Donald J. 12-14-1942 " 9 Williams, Tom 1-24-1943 " 82 Williams, Virgil Eugene 1-20-1943 " 9 Woodall, Tommy Wayne 6-15- 1943 " 70 Werks, Mary Ann 7-27- 1943 " 70 Wass, Charles F. 12-23-1943 " 76 White, Reuben Larry 2-14-1944 " 5mos Washington, Shirley 3-20-1944 " Wingo, Ida Mrs. 4-13-1944 " 82 Williams, Cora 6-22-1944 " NR Watson, W.H. 7-31-1944 " 82				
Warren, A.W.       12 -2- 1941       "       64         Whitby, Gerthies       2-16-1942       "       53         Wheeler, James Lee       5-17-1942       "       2mo         Walderone, Isabel       4-28 -1942       "       6mo         Woodward, William M.       5-31- 1942       "       75         Walling, Ella May       6- 1- 1942       "       73         Wood, Cecil Leonard       8- 5- 1942       "       6%hrs         Welch, Tim J.       11 -9- 1942       "       75         Wagoner, Bob       11-12-1942       "       72         Whittington, Donald J.       12-14-1942       "       9         Williams, Tom       1-24-1943       "       82         Williams, Virgil Eugene       1-20-1943       "       82         Williams, Virgil Eugene       1-20-1943       "       7wks         Werks, Mary Ann       7-27- 1943       "       3mos         Wilcox, Walter       8-8- 1943       "       50         Wass, Charles F.       12-23-1943       "       68         Woody, Nancy Jane       12-27- 1943       "       68         Woody, Nancy Jane       12-27- 1944       "       5mos				
Warrell, A.W. Whitby, Gerthies 2-16-1942 " 53 Wheeler, James Lee 5-17-1942 " 2mo Walderone, Isabel 4-28 -1942 " 6mo Woodward, William M. 5-31- 1942 " 75 Walling, Ella May 6- 1- 1942 " 73 Wood, Cecil Leonard 8- 5- 1942 " 6½hrs Welch, Tim J. 11 -9- 1942 " 75 Wagoner, Bob 11-12-1942 " 72 Whittington, Donald J. 12-14-1942 " 9 Williams, Tom 1-24-1943 " 82 Williams, Virgil Eugene 1-20-1943 " 00 Woodall, Tommy Wayne 6-15- 1943 " 70 Werks, Mary Ann 7-27- 1943 " 70 Wass, Charles F. 12-23-1943 " 70 Wass, Charles F. 12-23-1943 " 68 Woody, Nancy Jane 12-27- 1943 " 76 White, Reuben Larry 2-14-1944 " 5mos Washington, Shirley 3-20-1944 " 5mos Williams, Cora 6-22-1944 " NR Watson, W.H. 7-31-1944 " 82	Woolverton, Joseph Edward			
Wheeler, James Lee       5-17-1942       "       2mo         Walderone, Isabel       4-28 -1942       "       6mo         Woodward, William M.       5-31- 1942       "       75         Walling, Ella May       6- 1- 1942       "       73         Wood, Cecil Leonard       8- 5- 1942       "       6½hrs         Welch, Tim J.       11 -9- 1942       "       75         Wagoner, Bob       11-12-1942       "       72         Whittington, Donald J.       12-14-1942       "       9         Williams, Tom       1-24-1943       "       82         Williams, Virgil Eugene       1-20-1943       "       0         Woodall, Tommy Wayne       6-15- 1943       "       7wks         Werks, Mary Ann       7-27- 1943       "       3mos         Wilcox, Walter       8-8- 1943       "       50         Wass, Charles F.       12-23-1943       "       68         Woody, Nancy Jane       12-27- 1943       "       76         White, Reuben Larry       2-14-1944       "       5mos         Washington, Shirley       3-20-1944       "       4         Williams, Cora       6-22-1944       "       NR     <	Warren, A.W.			
Walderone, Isabel 4-28 -1942 " 6mo Woodward, William M. 5-31- 1942 " 75 Walling, Ella May 6- 1- 1942 " 73 Wood, Cecil Leonard 8- 5- 1942 " 6½hrs Welch, Tim J. 11 -9- 1942 " 75 Wagoner, Bob 11-12-1942 " 72 Whittington, Donald J. 12-14-1942 " 9 Williams, Tom 1-24-1943 " 82 Williams, Virgil Eugene 1-20-1943 " 0 Woodall, Tommy Wayne 6-15- 1943 " 7wks Werks, Mary Ann 7-27- 1943 " 3mos Wilcox, Walter 8-8- 1943 " 50 Wass, Charles F. 12-23-1943 " 68 Woody, Nancy Jane 12-27- 1943 " 76 White, Reuben Larry 2-14-1944 " 5mos Washington, Shirley 3-20-1944 " 4 Wingo, Ida Mrs. 4-13-1944 " 63 Williams, Cora 6-22-1944 " NR Watson, W.H. 7-31-1944 " 82				
Woodward, William M. 5-31- 1942 " 75 Walling, Ella May 6- 1- 1942 " 6½hrs Wood, Cecil Leonard 8- 5- 1942 " 6½hrs Welch, Tim J. 11 -9- 1942 " 75 Wagoner, Bob 11-12-1942 " 72 Whittington, Donald J. 12-14-1942 " 9 Williams, Tom 1-24-1943 " 82 Williams, Virgil Eugene 1-20-1943 " 0 Woodall, Tommy Wayne 6-15- 1943 " 7wks Werks, Mary Ann 7-27- 1943 " 3mos Wilcox, Walter 8-8- 1943 " 50 Wass, Charles F. 12-23-1943 " 68 Woody, Nancy Jane 12-27- 1943 " 76 White, Reuben Larry 2-14-1944 " 5mos Washington, Shirley 3-20-1944 " 4 Wingo, Ida Mrs. 4-13-1944 " 63 Williams, Cora 6-22-1944 " NR Watson, W.H. 7-31-1944 " 82				
Walling, Ella May Walling, Ella May Wood, Cecil Leonard Welch, Tim J. Wagoner, Bob Mhittington, Donald J. Milliams, Tom Milliams, Virgil Eugene Moodall, Tommy Wayne Merks, Mary Ann Milcox, Walter Mass, Charles F. Moody, Nancy Jane White, Reuben Larry Walliams, Cora Watson, W.H. Mass, Cora Mass, C				
Wood, Cecil Leonard 8- 5- 1942 " 6½hrs Welch, Tim J. 11 -9- 1942 " 75 Wagoner, Bob 11-12-1942 " 72 Whittington, Donald J. 12-14-1942 " 9 Williams, Tom 1-24-1943 " 82 Williams, Virgil Eugene 1-20-1943 " 0 Woodall, Tommy Wayne 6-15- 1943 " 7wks Werks, Mary Ann 7-27- 1943 " 3mos Wilcox, Walter 8-8- 1943 " 50 Wass, Charles F. 12-23-1943 " 68 Woody, Nancy Jane 12-27- 1943 " 76 White, Reuben Larry 2-14-1944 " 5mos Washington, Shirley 3-20-1944 " 4 Wingo, Ida Mrs. 4-13-1944 " 63 Williams, Cora 6-22-1944 " NR Watson, W.H. 7-31-1944 " 82				
Welch, Tim J.				
Wagoner, Bob 11-12-1942 " 72 Whittington, Donald J. 12-14-1942 " 9 Williams, Tom 1-24-1943 " 82 Williams, Virgil Eugene 1-20-1943 " 7 Woodall, Tommy Wayne 6-15- 1943 " 7 Werks, Mary Ann 7-27- 1943 " 3 Wilcox, Walter 8-8- 1943 " 50 Wass, Charles F. 12-23-1943 " 68 Woody, Nancy Jane 12-27- 1943 " 76 White, Reuben Larry 2-14-1944 " 5 Washington, Shirley 3-20-1944 " 4 Wingo, Ida Mrs. 4-13-1944 " 63 Williams, Cora 6-22-1944 " NR Watson, W.H. 7-31-1944 " 82				
Whittington, Donald J. 12-14-1942 " 9 Williams, Tom 1-24-1943 " 82 Williams, Virgil Eugene 1-20-1943 " 0 Woodall, Tommy Wayne 6-15- 1943 " 7wks Werks, Mary Ann 7-27- 1943 " 3mos Wilcox, Walter 8-8- 1943 " 50 Wass, Charles F. 12-23-1943 " 68 Woody, Nancy Jane 12-27- 1943 " 76 White, Reuben Larry 2-14-1944 " 5mos Washington, Shirley 3-20-1944 " 4 Wingo, Ida Mrs. 4-13-1944 " 63 Williams, Cora 6-22-1944 " NR Watson, W.H. 7-31-1944 " 82				
Williams, Tom 1-24-1943 " 82 Williams, Virgil Eugene 1-20-1943 " 7wks Werks, Mary Ann 7-27- 1943 " 3mos Wilcox, Walter 8-8- 1943 " 50 Wass, Charles F. 12-23-1943 " 68 Woody, Nancy Jane 12-27- 1943 " 76 White, Reuben Larry 2-14-1944 " 5mos Washington, Shirley 3-20-1944 " 4 Wingo, Ida Mrs. 4-13-1944 " 82				
Williams, Virgil Eugene 1-20-1943 " O Woodall, Tommy Wayne 6-15- 1943 " 7wks Werks, Mary Ann 7-27- 1943 " 3mos Wilcox, Walter 8-8- 1943 " 50 Wass, Charles F. 12-23-1943 " 68 Woody, Nancy Jane 12-27- 1943 " 76 White, Reuben Larry 2-14-1944 " 5mos Washington, Shirley 3-20-1944 " 4 Wingo, Ida Mrs. 4-13-1944 " 63 Williams, Cora 6-22-1944 " NR Watson, W.H. 7-31-1944 " 82				
Woodall, Tommy Wayne 6-15- 1943 " 7wks Werks, Mary Ann 7-27- 1943 " 3mos Wilcox, Walter 8-8- 1943 " 50 Wass, Charles F. 12-23-1943 " 68 Woody, Nancy Jane 12-27- 1943 " 76 White, Reuben Larry 2-14-1944 " 5mos Washington, Shirley 3-20-1944 " 4 Wingo, Ida Mrs. 4-13-1944 " 63 Williams, Cora 6-22-1944 " NR Watson, W.H. 7-31-1944 " 82				
Werks, Mary Ann 7-27- 1943 " 3mos Wilcox, Walter 8-8- 1943 " 50 Wass, Charles F. 12-23-1943 " 68 Woody, Nancy Jane 12-27- 1943 " 76 White, Reuben Larry 2-14-1944 " 5mos Washington, Shirley 3-20-1944 " 4 Wingo, Ida Mrs. 4-13-1944 " 63 Williams, Cora 6-22-1944 " NR Watson, W.H. 7-31-1944 " 82				
Wilcox, Walter 8-8- 1943 " 50  Wass, Charles F. 12-23-1943 " 68  Woody, Nancy Jane 12-27- 1944 " 5mos  Washington, Shirley 3-20-1944 " 4  Wingo, Ida Mrs. 4-13-1944 " 63  Williams, Cora 6-22-1944 " NR  Watson, W.H. 7-31-1944 " 82				
Wass, Charles F. 12-23-1943 " 68 Woody, Nancy Jane 12-27- 1943 " 76 White, Reuben Larry 2-14-1944 " 5mos Washington, Shirley 3-20-1944 " 4 Wingo, Ida Mrs. 4-13-1944 " 63 Williams, Cora 6-22-1944 " NR Watson, W.H. 7-31-1944 " 82				
Woody, Nancy Jane 12-27- 1943 " 76 White, Reuben Larry 2-14-1944 " 5mos Washington, Shirley 3-20-1944 " 4 Wingo, Ida Mrs. 4-13-1944 " 63 Williams, Cora 6-22-1944 " NR Watson, W.H. 7-31-1944 " 82				
White, Reuben Larry 2-14-1944 " 5mos Washington, Shirley 3-20-1944 " 4 Wingo, Ida Mrs. 4-13-1944 " 63 Williams, Cora 6-22-1944 " NR Watson, W.H. 7-31-1944 " 82				
Washington, Shirley 3-20-1944 " 4 Wingo, Ida Mrs. 4-13-1944 " 63 Williams, Cora 6-22-1944 " NR Watson, W.H. 7-31-1944 " 82				
Wingo, Ida Mrs. 4-13-1944 " 63 Williams, Cora 6-22-1944 " NR Watson, W.H. 7-31-1944 " 82	at the second of			
Williams, Cora 6-22-1944 " NR Watson, W.H. 7-31-1944 " 82				
Watson, W.H. 7-31-1944 " 82				
			li .	
			11	

INDIVIDUAL GRAVE RECORD BOOK NO# 1.

NAME OF DECEASED:	DATE OF DEATH:	PLACE OF DEATH:	AGE:
Wade, inf d.of A.B. Willison, Charley Winn, L.C. Wimmer, John Wimmer, Sarah Williams, Mary Ann Williams, John S. Watson, Bill Wooley, W.D. WOOTEN> Kermit C. Williams, Elvin inf s of M Worley, W.W. Woodall,Oscar Daniel Wheeler, Eliza,Mrs. Wilson,inf d. of Richard Wooster, Ida Ida. Watson, Arthur E. Williams. Linda Kay West, Charles Wm. Waterman, Edward B. Wood,Ruby Jessie Worley,Myrtle Warn,Jno F.	11-13-1944 12-10-1944 1- 8-1945 4-28-1945 9-26-1946 5-21-1946 6- 4-1946 12-16-1948 1- 8-1947 11- 4-1947 11- 4-1947 12- 7-1947 12- 7-1947 12- 9-1947 12- 9-1947 12-16-1947 12-16-1947 12-20-1948 12-20-1948 12-20-1950 8-29-1950 NR 8-15-1951 7-25-1952	Muskogee "" "" "" "" "" "" "" "" "" "" "" "" "	0 75 76 37 76 62 64 0 105 34 1da 78 66 77 0 NR 69 1½ 79 68 NR 53 NR
Yee,Lee Yates,Mary Yearons, C.A. York, Lizzie Yates, Jewell Young,James ",Jimmie ",Bill ", Joseph ",William E.	5- 9- 1916 10-17-1905 5-26-1924 10-10-1926 9- 1-1928 8- 3-1933 10-12-1934 4-27-1935 4-17-1936 9-10-1940	NR NR Muskogee " " " "	NR NR NR S8 49 4 2 81 68
Zook, Mrs.	10-28-1913	NR	NR

This concludes BOOK #1, it has been copied exactly as is

### NEW MEMBERS OF M.C.G.S. & NAMES THEY RESEARCH

Doris Jean Landis, Rt. 1, Box 152 A, Jonesboro, Ark. 72401: BERRYHILL - Old Creek Nation, & Muskogee, 1831-33; RAINS, Keefton, Ok. 1900's.

Lillie Wiedel, Rt 1 Box 412, Boynton, OK 74422: BARNETT, Ky 1850-1885; HODGE, Missouri, 1904; LASTER, Ark.--to 1910.

Nancy G. Cook, 2303 S.E. Military Dr. #521, San Antonio, TX 78223: BONHAM, I.T. 1890; WALKER, Ft. Gibson, I.T.; ADAIR & HARRIS.

Erma Roberson, 1803 W. Franklin, Shawnee, OK 74801: HARRIS, DAVIS, PITTS, FREEMAN, JOHNSON - Muskogee, Wagoner & Tahlequah.

Judy Croftcheck, Rt 7 Box 108, Muskogee, OK 74401: HARRIS, Muskogee 1875; KYLE, Muskogee 1885; HUTSON, Muskogee 1885; Croftcheck, Smock, PA 1912.

Shirley Taylor, Rt 2 Box 8050, Porum, OK 74455: WOOD, Marion, Ark. 1852-1908; HURST, Kty 1811; COUREN, Ark. & McIntosh, OK 1905-1953; SOLOMON, Tenn., Atakata, OK 1876-1916.

Robbie Hutson, Rt 2 Box 167-A, Muskogee, OK 74401: HARRIS, Musk. 1885; KYLE, Musk. 1885; RILEY.

### ? QUERIES ?

BERRYHILL

Seeking the burial site of John Berryhill, b ca 1754/62, Old Creek Nation, Ga, d. 1831, and his wife, Elizabeth "Martha" Derrisaw Berryhill, b. ca 1762, Old Creek Na., GA., d. 1833. Both are said to be buried near Muskogee. John Berryhill and family went to Creek Na. I.T. in 1828 with McIntosh Party of Creeks.

RAINS SIMPSON Will correspond with anyone working on the genealogy of William Rains, b ca 1830 Ohio/Ill; and Mary E. "Aunt Si" Simpson, b ca 1840 Ill. Both are buried in the McClain/McLain Cemetery near Keefton.

Doris Jean Archer Landis, Rt 1, Box 152-A, Jonesboro, AR 72401

### LIST OF INDIAN ROLLS AVAILABLE ON MICROFILM

The records listed below have been microfilmed for preservation purposes and to facilitate reference. Microfilm begining with an "M" or "T" number can only be purchased from the National Archives, Publication Sales Branch (NEPS), Washington, D.C. 20408 for \$20 per roll. For information about purchase of microfilm begining with "7RA", write Director, National Archives - Fort Worth Branch, P.O. Box 6216, Fort Worth, TX 76115.

CHEDOKEE

1828	CHEROKEE
	arkansas Charokees Jenate document #512, Vol. 2
1835	Index to the Henderson Roll. T-496 roll 1.
1848	Mullay Roll of Eastern Cherokee. 7RA-06 roll 1.
1851	Index to the Siler Roll. M-685 roll 12.
1851	Siler Roll of Eastern Cherokee. 7RA-06 roll 1.
1852	Chapman Roll of Eastern Cherokee. M-685 roll 12.
1852	Index to the Drennen Roll. M-685 roll 12.
1852	Drennen Roll of "Emigrant Cherokees". M-685 roll 12.
1867	Tompkins Roll. 7RA-04 roll 1. Freedmen Rolls and Indexes (includes Wallace Roll).
1867-97	7RA-51 rolls 1 and 2.
1878-89	Lists of claimants and Dockets of the Citizenship Commission. 7RA-25 rolls 1-4.
1880	Index and Census, schedules 1 to 6. 7RA-07 rolls 1-4.
1880	Payment Roll ("Lipe Roll"). 7RA-33 rolls 1-2.
1883	Census. 7RA-29 roll 1.
1883	Census (an 1897 copy with Sequoyah District missing).
	7RA-56 rolls 1-2.
1883	Payment Roll. 7RA-57 rolls 1-3.
1886	Census. 7RA-58 rolls 1-2.
1890	Census (NO index), schedules 1 to 6. 7RA-08 rolls 1-6.
1890 · · · · · · · · · · · · · · · · · · ·	Payment Roll. 7RA-59 rolls 1-2. Payment Roll (1897 copy). 7RA-60 rolls 1-3.
1893	Census (includes Delawares, Shawnees, and Freedmen).
1033 .	7RA-54 rolls 1-2.
	/RA-J4 IDIIS 1-2.
1894	Payment Roll and Index ("Starr Roll"). 7RA-38 rolls 1-5
1896	Index to Old Settlers Payment Roll. T-985 roll 1.
1896	Old Settlers Payment Roll. 7RA-34 roll 1.
1896	Census. 7RA-19 roll 1.
1896	Index to Census not including Freedmen. 7RA-71 roll 1.
1907	Index to Final Roll (Dawes Roll). M-1186 roll 1.
1907	Index to Rejected Applicants. 7RA-24 roll 1.
1909	Index to Guion Miller Roll. M-685 roll 1.
1910	Payment to Intermarried Whites. 7RA-80 roll 1.
1910	Index and Cherokee Equalization Payroll.7RA-82 roll 1-4
1912	Index and Payroll. 7RA-81 rolls 1-3.

### DELAWARE

1867	Census. 7RA-73 roll 1.
1896	Census. 7RA-26 roll 1.
1904	Per Capita Payroll. 7RA-26 roll 1.
1004	ICI Capita adjiolia , imi io io i
	SHAWNEE
1871	Register of Shawnees admitted to Cherokee Citizenship.
	7RA-74 roll 1.
1896	Census. 7RA-26 roll 1.
	CEMINOLE
	SEMINOLE
1868	Payment Roll. 7RA-20 roll 1.
1895	Payment Rolls. 7RA-20 roll1.
1897	Census Roll. 7RA-20 roll 1.
1007	Cenada Maria a rati ra
	OSAGE
1878-1907	Annuity Rolls. 7RA-35 rolls 1-21.
1887-1939	Census Rolls. M-595 rolls 317-328.
	CREEK
	011 0 111 Pall 7 7 7 22 4 7 1 1
1857	Old Settlers Roll. 7RA-23 roll 1.
1857	Payroll 7RA-23 roll 2
1858 1867	Payroll. 7RA-23 roll 2. Dunn Roll of Citizens. 7RA-44 roll 1.
1869	Dunn Roll of Freedmen and Indexes. 7RA-44 roll 1.
1882	Census. 7RA-43 roll 1.
1888-1896	
	Citizenship Commission. 7RA-68 rolls 1-2.
1890	Authenticated Roll. 7RA-41 roll 1.
1890	Census. 7RA-12 roll 1 and 7RA-45 roll 1.
1890	Payroll. 7RA-46 roll 1.
1895	Census (includes Ommitted and Supplemental rolls) 7RA-
	12 roll 1.
1895	Payment Roll. 7RA-12 rolls 1-2.
1896	Census (partial). 7RA-12 roll 2.
1896	Colbert Roll (census). 7RA-69 rolls 1-2.
1896-1900	Applicants to the Commission for Citizenship. 7RA-42
1004	roll 1.
1904	Loyal Creek Payment Roll. 7RA-31 roll 1.

### CHOCTAW

1830	List of people who remained in Mississippi. 7RA-116 roll 1
1855	Payment Roll. 7RA-09 roll 1.
1885	Index to 1885 Census. 7RA-62 roll 1.
1885	Census. M-595 roll 623.
1885	Census of Choctaw-Chickasaw Freedmen. 7RA-63 roll 1.
1893	Index to Choctaw Payroll. 7RA-64 roll 1.
1893	Choctaw P?ayment Roll. 7RA-65 rolls 1-2.
1896	Index and Census. 7RA-02 rolls 1-2.
1896	Census of Choctaw-Chickasaw Freedmen. 7RA-66 roll 1.
1902-1904	Lists of Applicants and Dockets of the Choctaw-Chickasaw Citizenship Court. 7RA-27 rolls 1-2.
1902-1907	Index to Dawes Rejected ("R") Cards. 7RA-147 roll 1.
1902-1907	Index to Choctaw-Chickasaw Allotment Ledgers. 7RA-153 rolls 1-2.
1904	Townsite Index and Payroll. 7RA-83 rolls 1-3.
1906	Payroll. 7RA-84 roll 1.
1908	Index and Payroll. 7RA-88 roll 1.
1910	Index and Equalization Payroll. 7RA-89 roll 1.
1911	Index and Payroll (\$50). 7RA-90 roll 1.
1916	Index and Payroll. 7RA-93 roll 1.
1917	Index and Payroll. 7RA-94 roll 1.
	MISSISSIPPI CHOCTAW
1908	Townsite Payroll and Index. 7RA-107 roll 1.
1911	Index and Payroll. 7RA-108 roll 1.
	CHICKASAW
1878	Census. 7RA-21 roll 1.
1890	Census. 7RA-21 roll 1.
1893	Payment Roll. 7RA-21 roll 2.
1896	Census. 7RA-21 roll 2.
1897	Census. 7RA-21 roll 2.
1903	Incompetent Payroll. 7RA-96 roll 1.
1904	Index and Townsite Fund Payroll. 7RA-97 roll 1.
1908	Payroll. 7RA-100 roll 1.
1910	Equalization Payroll. 7RA-101 roll 1.
n.d.	Lists of Citizens and Intruders. 7RA-21 roll 2.

### NON-INDIANS IN INDIAN TERRITORY

1860	Federal population schedules: Free Schedules M-653 roll 52 Slave Schedules M-653 roll 54
1880	Cherokee Census Schedules 3-6. 7RA-07 roll 4.
1890	Cherokee Census Schedules 3-6. 7RA-08 rolls 5-6.
1893	Cherokee Census of Intruders. 7RA-55 roll 1.
1898-1907	Index to Doubtful Cherokees. 7RA-24 roll 1.
1900	Federal population census: Soundex Index T-1082 roll 1-42 Schedules T-623 roll 1843-1854
1901-1909	Index and Dockets of Intruder Cases. 7RA-53 roll 1-5
1909	Index to Guion Miller Roll of Cherokees (contains the names of many people who were rejected) M-685 roll 1.
n.d.	Chickasaw List of Intruders. 7RA-21 roll 2.

## ARKANSAS CHEROKEES

## Submitted by Lu Boggs

No. in family.	Share to each of the \$50000 granted by treaty of 6th May, 1828.	Total Amount.
times miles interes annier annie annie beliefe artier some annie	MACADI ANNICO ANNICO SETTED ANTICO SETTED SETTED SETTED STATES SANDAS SA	[137]
7	\$25.75	\$180.25
	25.75	128.75
	25.75	206.00
6	25.75	154.50
1 1	25.75	283.25
8	25.75	206.00
4		103.00
5		128.75
5		128.75
		51.50
		103.00
		154.50
		231.75 206.00
		103.00
		77.25
		180.25
		25.75
		25.75
		25.75
•		25.75
		77.25
1	25.75	25.75
9	25.75	231.75
3	25.75	77.25
2		51.50
		77.25
		180.25
		334.75
		206.00
		103.00
		51.50 103.00
		154.50
		103.00
1		25.75
7	25.75	180.25
1	25.75	25.75
2	25.75	51.50
10	25.75	257.50
	25.75	51.50
9	25.75	231.75
	No. in family.  7 5 8 6 11 8 4 5 5 2 4 6 9 8 4 3 7 1 1 1 3 1 9 3 2 3 7 13 8 4 2 4 6 4 1 7 1 2	family. of the \$50000 granted by treaty of 6th May, 1828.  7 \$25.75 5 25.75 8 25.75 11 25.75 8 25.75 5 25.75 5 25.75 9 25.75 9 25.75 1 25.75 2 25.75 1 25.75 2 25.75 1 25.75 2 25.75 2 25.75 2 25.75 2 25.75

### ARKANSAS CHEROKEES

	NA CONTRA RANGO MARIO CONTRA RANGO CONTRA SANCO CONTRA RANGO CANADO CONTRA RANGO CO	many elling minds grown driver waters make hardy prices about prices where prices distinct hardy from a finite prices about prices abou	maker daren sommy person min'ny promon katen salam atawa dalama dalama palama pinda palama dalama dalama minin Andre spenser salama garan, minika selaka dalama dalama dalama dalama penguna atawa pama selaka selaka selaka
To whom paid.	No. in	Share to each	
Heads of Families.	family.	of the \$50000 granted by treaty of 6th May, 1828.	Total Amount.
	um Machine States series Salayu samou Salayu Salayu Salayu Salaki Salayu	using garing ductor decimal district seriors filters proper visions school effects decimal district grows public grows public grows public grows public grows and the control of the action district SCDD Entire global depthy vision district grows and the control of the action district SCDD Entire global depthy vision district grows and the control of the action district SCDD Entire global depthy vision district grows and the control of the action district SCDD Entire global depthy vision district grows and the control of the action district school district grows and the action of the action district grows and the action district g	[138]
Crying Wolf	4	\$25.75	\$103.00
Terrapin Campbell	2	25.75	51.50
Little head Swimmer	1	25.75	25.75
Crying Buffaloe	4	25.75	103.00
White Woman	5	25.75	128.75
Catchum	4	25.75	103.00
Otter	5	25.75	128.75
Toochawa	6	25.75	154.50
Water Minner	4	25.75	103.00
George Justice	3	25.75	77.25
Leaf	1	25.75	25.75
Fawn-Killer	2	25.75	51.50
Stepalong	3	25.75	77.25
Little Tassel	5	25.75	128.75
Human Tracker	6	25.75	154.50
Stair	5	25.75	128.75
Dry Water	6	25.75	154.50
Going-down stream	6	25.75	154.50
Keep-a-secret	3	25.75	77.25
Jack Crapo	7	25.75	180.25
Uslucah	5	25.75	128.75
Talossa	1	25.75	25.75
Lewis Rogers	2	25.75	51.50
Little Sampson	1	25.75	25.75
Standing Island	7	25.75	180.25
Wata	4	25.75	103.00
Toonacah	2 7	25.75	51.50
Artoah		25.75	180.25
Gillis Bags	3	25.75	77.25
Thomas Graves	7	25.75	180.25
N. B. Grubs	1	25.75	25.75
John Rogers	6	25.75	154.50
William Rogers	9	25.75	231.75
Peter May	<u>=</u>	25.75	128.75
Nicholas Miller	3	25.75	77.25
Little Terrapin	8	25.75	206.00
Young Spring Frog	6	25.75	154.50
John W. Flowers	4	25.75	103.00
Fleasant Rogers	3	25.75	77.25
Smoker Reuben Tiner	5	25.75	128.75
	8	25.75	206.00
James Campbell	1	25.75	25.75

## ARKANSAS CHEROKEES

To whom paid.  Heads of Families.	No. in family.	treaty of 6th May, 1828.	Total Amount.
	AND MAKE AND SOME STORM STORM SOME STORM S	pamag spiras shape giptas giptas apama perim Salam Shana praka pindan bipan dipan dipan dipan dipan dipan dipan Dirum dipan gipta apam apam dipan dipan dipan salam pahan kahan dipan dipan dipan dipan dipan dipan dipan dipan	[139]
Isaac Rogers	4	\$25.75	\$103.00
Widow Grog	ક	25.75	154.50
Orphan Children		25.75	51.50
Cohenake	2 7	25.75	180.25
Chennabe	6	25.75	154.50
John Bug	1	25.75	25.75
Whirlwind	ż	25.75	180.25
Chicken	3	25.75	77.25
The Buck	6	25.75	154.50
Olestie, or Worm	1	25.75	25.75
Nancy	3	25.75	77.25
Nancy Terrapin-head	3	25.75	77.25
Listen and Fire Carrier	2	25.75	51.50
Skewekea	1	25.75 25.75	25.75
okewekea Chuwaluka	1	25.75	25.75
Sucker M'Lemore	4	25.75	103.00
Did-not-get-water	3	25.75	77.25
George Basket	2	25.75	51.50
Corn-Cob	1	25.75	25.75
	7	25.75	180.25
Charles Rogers John Drew	4	25.75	103.00
Richard Drew	3	25.75	77.25
Richard Drew Thomas Candy	5	25.75	128.75
David Melton	3	25.75 25.75	77.25
Lewis Melton	4	25.75	103.00
Sam Wolf	<del>ا</del> خ	25.75	154.50
aam wort Dreadful Water	4	25.75	103.00
Spanish Peter	5	25.75	128.75
	9	25.75	231.75
Levi Rogers Goeroe Prower	7 6	25.75	154.50
George Brewer Look-this-way	1	25.75	25.75
Standing-in-water	5	25.75	128.75
Gnat	5	25.75	128.75
E. Fields	3	25.75	77.25
Sally Stinson	4 .	25.75	103.00
Rachel Drew	-	25.75	51.50
Duck Peter	3	25.75	77.25
Tom Balloo	8	25.75	206.00
Sauguea	1	25.75	25.75 \
sauduea Bank	1	25.75	25.75
bark Broken Boal	1	25.75	25.75
Quart-of-Whisky	4	25.75	103.00

Heads of Families.   Share to each of the \$50000 granted by treaty of 6th May, 1828.   Total Amount. treaty of 6th May, 1828.	STOT OTHER STORE SHARE AND A SHARE ARREST AND A SHARE	THE STREET WHEN STREET	mana mana salam salam salam salam mana mana mana mana mana kalam salam salam salam salam salam daya dalam da Mana mana salam	and district parties for the fields follow fillers fillers for common enter these fillers district forms and the fillers fillers follow fillers fillers follow fillers
Treaty of 6th May, 1828.   Telephone   T			of the \$50000	
Hawk	Heads of Families.		treaty of 6th	Total Amount.
Hawk			May, 1828.	
Hawk 1 \$25.75 \$25.75   128.75	AND MADE COME THE STATE OF THE	AND SOUTH EXCENT BUTTER STATES SOUTH SOUTH STATES SANGER AND AND ADDRESS SANGER AND ADDRESS SOUTH ADDRESS SOUTH AND ADDRESS SOUTH ADDRESS SOUTH AND ADDRESS SOUTH ADDRESS SOUTH AND ADDRESS SOUTH ADDRESS SOUTH ADDRESS SOUTH AND ADDRESS SOUTH AND ADDRESS SOUTH ADDRES	eren denne sirver trant train salam skalar strine s	
Tekastanah 5 25.75 128.75				
Gun Rod 5 25.75 128.75 01d Buffaloe 2 25.75 51.50				
Did Buffalce				
Ah-taisky 4 25.75 103.00 Noon-time-of-day 2 25.75 51.50 Samuel Mackey 7 25.75 180.25 Elsay 2 25.75 180.25 Choker 4 25.75 103.00 Cutotlana 4 25.75 103.00 Widow Killinuker 5 25.75 128.75 Dick Toney 7 25.75 180.25 Chicken Pecker 3 25.75 77.25 Double Triggers 2 25.75 103.00 Jacob Gentry 3 25.75 103.00 Jacob Gentry 3 25.75 103.00 Little Chicken Cock 1 25.75 103.00 Little Chicken Cock 1 25.75 25.75 John Looney 4 25.75 25.75 John Looney 5 25.75 25.75 John Looney 6 25.75 25.75 John Looney 7 25.75 103.00 Eeorge Morris 9 25.75 25.75 Dog-in-the-tree 6 25.75 26.00 Nelowie 8 25.75 26.00 Relaquatehe 7 25.75 180.25 Brains 5 25.75 180.25 Widow Bobtail 7 25.75 180.25 Widow Bobtail 7 25.75 180.25 Samuel Martin 1 25.75 25.75 Wartule 2 25.75 150.00 Stinking Oil 5 25.75 180.25 Stinking Oil 5 25.75 180.25 Suffaloe-gone-along 1 25.75 25.75 Little Otter 1 25.75 25.75		5		
Ah-taisky 4 25.75 103.00 Noon-time-of-day 2 25.75 51.50 Samuel Mackey 7 25.75 180.25 Elsay 2 25.75 180.25 Choker 4 25.75 103.00 Cutotlana 4 25.75 103.00 Widow Killinuker 5 25.75 128.75 Dick Toney 7 25.75 180.25 Chicken Pecker 3 25.75 77.25 Double Triggers 2 25.75 103.00 Jacob Gentry 3 25.75 103.00 Jacob Gentry 3 25.75 103.00 Little Chicken Cock 1 25.75 103.00 Little Chicken Cock 1 25.75 25.75 John Looney 4 25.75 25.75 John Looney 5 25.75 25.75 John Looney 6 25.75 25.75 John Looney 7 25.75 103.00 Eeorge Morris 9 25.75 25.75 Dog-in-the-tree 6 25.75 26.00 Nelowie 8 25.75 26.00 Relaquatehe 7 25.75 180.25 Brains 5 25.75 180.25 Widow Bobtail 7 25.75 180.25 Widow Bobtail 7 25.75 180.25 Samuel Martin 1 25.75 25.75 Wartule 2 25.75 150.00 Stinking Oil 5 25.75 180.25 Stinking Oil 5 25.75 180.25 Suffaloe-gone-along 1 25.75 25.75 Little Otter 1 25.75 25.75		2		
Noon-time-of-day         2         25.75         180.25           Samuel Mackey         7         25.75         180.25           Elsay         2         25.75         51.50           The Buffaloe         7         25.75         180.25           Choker         4         25.75         103.00           Cutotlana         4         25.75         103.00           Widow Killinuker         5         25.75         128.75           Dick Toney         7         25.75         180.25           Chicken Pecker         3         25.75         77.25           Double Triggers         2         25.75         103.00           Jacob Gentry         3         25.75         77.25           Polly Iniun         1         25.75				
Samuel Mackey 7 25.75 180.25 Elsay 2 25.75 51.50 The Buffalce 7 25.75 180.25 Choker 4 25.75 103.00 Cutotlana 4 25.75 103.00 Widow Killinuker 5 25.75 180.25 Chicken Pecker 7 25.75 180.25 Chicken Pecker 8 25.75 180.25 Chicken Pecker 8 25.75 15.50 George Chisholm 4 25.75 103.00 Jacob Gentry 3 25.75 77.25 Polly Hinun 1 25.75 25.75 Nathaniel Smoker 4 25.75 103.00 Little Chicken Cock 1 25.75 25.75 Diver 1 25.75 25.75 Dionicken Cock 1 25.75 25.75 Dionicken Cock 1 25.75 25.75 Diver 1 25.75 25.75 Dionicken Cock 1 25.75 25.75 Dog-in-the-tree 6 25.75 103.00 Real quautehe 8 25.75 206.00 Teal quautehe 7 25.75 180.25 Brains 5 25.75 180.25 Widow Bobtail 7 25.75 128.75 Samuel Martin 1 25.75 25.75 Wartule 2 25.75 128.75 Samuel Martin 2 25.75 128.75 Samuel Martin 2 25.75 128.75 Rabbit String 7 25.75 180.25 Buffaloe-gone-along 1 25.75 180.25 Buffaloe-gone-along 1 25.75 25.75 Little Otter 1 25.75 25.75 Little Otter 1 25.75 25.75				
Elsay The Buffalce 7		2		
Choker				
Choker		<u> </u>		
Cutotlana       4       25.75       103.00         Widow Killinuker       5       25.75       128.75         Dick Toney       7       25.75       180.25         Chicken Pecker       3       25.75       77.25         Double Triggers       2       25.75       103.00         George Chisholm       4       25.75       103.00         Jacob Gentry       3       25.75       77.25         Polly Hinun       1       25.75       25.75         Nathaniel Smoker       4       25.75       103.00         Little Chicken Cock       1       25.75       25.75         Diver       1       25.75       25.75         John Looney       4       25.75       25.75         John Looney       4       25.75       231.75         Dog-in-the-tree       6       25.75       103.00         Realquautehe       7       25.75       120.00         Realquautehe       7       25.75       120.00         Brains       5       25.75       120.25         Brains       5       25.75       180.25         Brains       5       25.75       180.25				
Widow Killinuker       5       25.75       128.75         Dick Toney       7       25.75       180.25         Chicken Pecker       3       25.75       77.25         Double Triggers       2       25.75       51.50         George Chisholm       4       25.75       103.00         Jacob Gentry       3       25.75       77.25         Polly Hinun       1       25.75       25.75         Nathaniel Smoker       4       25.75       103.00         Little Chicken Cock       1       25.75       25.75         Diver       1       25.75       25.75         John Looney       4       25.75       103.00         George Morris       9       25.75       231.75         Dog-in—the—tree       6       25.75       124.50         Nelowie       8       25.75       126.00         Tealquautehe       7       25.75       180.25         Brains       5       25.75       180.25         Brains       5       25.75       180.25         Brick Stinson       7       25.75       180.25         Midow Bobtail       7       25.75       154.50 <t< td=""><td></td><td></td><td></td><td></td></t<>				
Dick Toney       7       25.75       180.25         Chicken Pecker       3       25.75       77.25         Double Triggers       2       25.75       51.50         George Chisholm       4       25.75       103.00         Jacob Gentry       3       25.75       77.25         Polly Hinun       1       25.75       25.75         Nathaniel Smoker       4       25.75       103.00         Little Chicken Cock       1       25.75       25.75         Diver       1       25.75       25.75         John Looney       4       25.75       103.00         George Mornis       9       25.75       231.75         Dog-in-the-tree       6       25.75       154.50         Nelowie       8       25.75       206.00         Tealquautehe       7       25.75       128.75         Brains       5       25.75       128.75         Dick Stinson       7       25.75       180.25         Widdow Bobtail       7       25.75       180.25         Oo-Sunnay       6       25.75       128.75         Samuel Martin       1       25.75       128.75 <t< td=""><td></td><td></td><td></td><td></td></t<>				
Chicken Pecker       3       25.75       77.25         Double Triggers       2       25.75       51.50         George Chisholm       4       25.75       103.00         Jacob Gentry       3       25.75       77.25         Polly Hinun       1       25.75       25.75         Nathaniel Smoker       4       25.75       103.00         Little Chicken Cock       1       25.75       25.75         Diver       1       25.75       25.75         John Looney       4       25.75       25.75         John Looney       4       25.75       231.75         Dog-in-the-tree       6       25.75       231.75         Dog-in-the-tree       6       25.75       206.00         Tealquautehe       8       25.75       128.75         Brains       5       25.75       180.25         Dick Stinson       7       25.75       180.25         Widow Bobtail       7       25.75       180.25         Oo-Sunnay       6       25.75       154.50         Polly or Wala       5       25.75       128.75         Samuel Martin       1       25.75       180.25		<u> </u>		
George Chisholm Jacob Gentry Ja		6		
George Chisholm Jacob Gentry Ja		3		
Jacob Gentry       3       25.75       77.25         Polly Hinun       1       25.75       25.75         Nathaniel Smoker       4       25.75       103.00         Little Chicken Cock       1       25.75       25.75         Diver       1       25.75       25.75         John Looney       4       25.75       103.00         George Morris       9       25.75       231.75         Dog-in-the-tree       6       25.75       124.50         Nelowie       8       25.75       206.00         Tealquautehe       7       25.75       180.25         Brains       5       25.75       128.75         Dick Stinson       7       25.75       180.25         Widow Bobtail       7       25.75       180.25         Oo-Sunnay       6       25.75       128.75         Polly or Wala       5       25.75       128.75         Samuel Martin       1       25.75       128.75         Wartule       2       25.75       128.75         Stinking Oil       5       25.75       128.75         Rabbit String       7       25.75       150.25		4		
Polly Hinun       1       25.75       25.75         Nathaniel Smoker       4       25.75       103.00         Little Chicken Cock       1       25.75       25.75         Diver       1       25.75       25.75         John Looney       4       25.75       103.00         George Morris       9       25.75       231.75         Dog-in-the-tree       6       25.75       154.50         Nelowie       8       25.75       206.00         Tealquautehe       7       25.75       180.25         Brains       5       25.75       180.25         Dick Stinson       7       25.75       180.25         Widow Bobtail       7       25.75       180.25         Oo-Sunnay       6       25.75       154.50         Polly or Wala       5       25.75       128.75         Samuel Martin       1       25.75       128.75         Wartule       2       25.75       128.75         Stinking Oil       5       25.75       180.25         Buffaloe-gone-along       1       25.75       25.75         James Stinnette       2       25.75       231.75      <	-			
Nathaniel Smoker       4       25.75       103.00         Little Chicken Cock       1       25.75       25.75         Diver       1       25.75       25.75         John Looney       4       25.75       103.00         George Morris       9       25.75       231.75         Dog-in-the-tree       6       25.75       124.50         Nelowie       8       25.75       206.00         Tealquautehe       7       25.75       180.25         Brains       5       25.75       180.25         Dick Stinson       7       25.75       180.25         Widow Bobtail       7       25.75       180.25         Oo-Sunnay       6       25.75       128.75         Polly or Wala       5       25.75       128.75         Samuel Martin       1       25.75       25.75         Wartule       2       25.75       128.75         Stinking Oil       5       25.75       180.25         Rabbit String       7       25.75       25.75         James Stinnette       2       25.75       25.75         James Stinnette       2       25.75       231.75				
Little Chicken Cock 1 25.75 25.75  Diver 1 25.75 25.75  John Looney 4 25.75 103.00  George Morris 9 25.75 231.75  Dog-in-the-tree 6 25.75 154.50  Nelowie 8 25.75 206.00  Tealquautehe 7 25.75 180.25  Brains 5 25.75 180.25  Dick Stinson 7 25.75 180.25  Widow Bobtail 7 25.75 180.25  Oo-Sunnay 6 25.75 154.50  Polly or Wala 5 25.75 154.50  Samuel Martin 1 25.75 128.75  Wartule 2 25.75 51.50  Stinking Oil 5 25.75 180.25  Buffaloe-gone-along 1 25.75 180.25  Buffaloe-gone-along 1 25.75 25.75  James Stinnette 2 25.75 51.50  Post 9 25.75 231.75  Little Otter 1 25.75 25.75				
Diver 1 25.75 25.75  John Looney 4 25.75 103.00  George Morris 9 25.75 231.75  Dog-in-the-tree 6 25.75 154.50  Nelowie 8 25.75 206.00  Tealquautehe 7 25.75 180.25  Brains 5 25.75 180.25  Dick Stinson 7 25.75 180.25  Widow Bobtail 7 25.75 180.25  Oo-Sunnay 6 25.75 154.50  Polly or Wala 5 25.75 128.75  Samuel Martin 1 25.75 25.75  Wartule 2 25.75 128.75  Rabbit String 7 25.75 128.75  Rabbit String 7 25.75 128.75  Buffaloe-gone-along 1 25.75 25.75  James Stinnette 2 25.75 51.50  Post 9 25.75 231.75  Little Otter 1 25.75 25.75				
John Looney 4 25.75 103.00 George Morris 9 25.75 231.75 Dog-in-the-tree 6 25.75 154.50 Nelowie 8 25.75 206.00 Tealquautehe 7 25.75 180.25 Brains 5 25.75 180.25 Dick Stinson 7 25.75 180.25 Widow Bobtail 7 25.75 180.25 Widow Bobtail 7 25.75 180.25 Oo-Sunnay 6 25.75 154.50 Polly or Wala 5 25.75 128.75 Samuel Martin 1 25.75 25.75 Wartule 2 25.75 128.75 Rabbit String 7 25.75 128.75 Rabbit String 7 25.75 180.25 Buffaloe-gone-along 1 25.75 25.75 James Stinnette 2 25.75 51.50 Post 9 25.75 25.75 Little Otter 1 25.75 25.75				
George Morris       9       25.75       231.75         Dog-in-the-tree       6       25.75       154.50         Nelowie       8       25.75       206.00         Tealquautehe       7       25.75       180.25         Brains       5       25.75       128.75         Dick Stinson       7       25.75       180.25         Widow Bobtail       7       25.75       180.25         Oo-Sunnay       6       25.75       154.50         Polly or Wala       5       25.75       128.75         Samuel Martin       1       25.75       25.75         Wartule       2       25.75       128.75         Stinking Oil       5       25.75       180.25         Buffaloe-gone-along       1       25.75       25.75         James Stinnette       2       25.75       25.75         Post       9       25.75       231.75         Little Otter       1       25.75       25.75				
Dog-in-the-tree       6       25.75       154.50         Nelowie       8       25.75       206.00         Tealquautehe       7       25.75       180.25         Brains       5       25.75       128.75         Dick Stinson       7       25.75       180.25         Widow Bobtail       7       25.75       180.25         Oo-Sunnay       6       25.75       154.50         Polly or Wala       5       25.75       128.75         Samuel Martin       1       25.75       25.75         Wartule       2       25.75       128.75         Stinking Oil       5       25.75       180.25         Rabbit String       7       25.75       180.25         Buffaloe-gone-along       1       25.75       25.75         James Stinnette       2       25.75       25.75         Little Otter       1       25.75       25.75				
Nelowie       8       25.75       206.00         Tealquautehe       7       25.75       180.25         Brains       5       25.75       128.75         Dick Stinson       7       25.75       180.25         Widow Bobtail       7       25.75       180.25         Oo-Sunnay       6       25.75       154.50         Polly or Wala       5       25.75       128.75         Samuel Martin       1       25.75       25.75         Wartule       2       25.75       128.75         Stinking Oil       5       25.75       180.25         Rabbit String       7       25.75       180.25         Buffaloe-gone-along       1       25.75       51.50         Post       9       25.75       231.75         Little Otter       1       25.75       25.75				
Tealquautehe       7       25.75       180.25         Brains       5       25.75       128.75         Dick Stinson       7       25.75       180.25         Widow Bobtail       7       25.75       180.25         Oo-Sunnay       6       25.75       154.50         Polly or Wala       5       25.75       128.75         Samuel Martin       1       25.75       25.75         Wartule       2       25.75       51.50         Stinking Oil       5       25.75       128.75         Rabbit String       7       25.75       180.25         Buffaloe-gone-along       1       25.75       25.75         James Stinnette       2       25.75       51.50         Post       9       25.75       231.75         Little Otter       1       25.75       25.75	-			
Brains       5       25.75       128.75         Dick Stinson       7       25.75       180.25         Widow Bobtail       7       25.75       180.25         Oo-Sunnay       6       25.75       154.50         Polly or Wala       5       25.75       128.75         Samuel Martin       1       25.75       25.75         Wartule       2       25.75       51.50         Stinking Oil       5       25.75       128.75         Rabbit String       7       25.75       180.25         Buffaloe-gone-along       1       25.75       51.50         Post       9       25.75       231.75         Little Otter       1       25.75       25.75				
Dick Stinson       7       25.75       180.25         Widow Bobtail       7       25.75       180.25         Oo-Sunnay       6       25.75       154.50         Polly or Wala       5       25.75       128.75         Samuel Martin       1       25.75       25.75         Wartule       2       25.75       51.50         Stinking Oil       5       25.75       128.75         Rabbit String       7       25.75       180.25         Buffaloe-gone-along       1       25.75       25.75         James Stinnette       2       25.75       25.75         Post       9       25.75       231.75         Little Otter       1       25.75       25.75				
Widow Bobtail       7       25.75       180.25         Oo-Sunnay       6       25.75       154.50         Polly or Wala       5       25.75       128.75         Samuel Martin       1       25.75       25.75         Wartule       2       25.75       51.50         Stinking Oil       5       25.75       128.75         Rabbit String       7       25.75       180.25         Buffaloe-gone-along       1       25.75       25.75         James Stinnette       2       25.75       21.50         Post       9       25.75       231.75         Little Otter       1       25.75       25.75				
Oo-Sunnay       6       25.75       154.50         Polly or Wala       5       25.75       128.75         Samuel Martin       1       25.75       25.75         Wartule       2       25.75       51.50         Stinking Oil       5       25.75       128.75         Rabbit String       7       25.75       180.25         Buffaloe-gone-along       1       25.75       25.75         James Stinnette       2       25.75       51.50         Post       9       25.75       231.75         Little Otter       1       25.75       25.75				
Polly or Wala       5       25.75       128.75         Samuel Martin       1       25.75       25.75         Wartule       2       25.75       51.50         Stinking Oil       5       25.75       128.75         Rabbit String       7       25.75       180.25         Buffaloe-gone-along       1       25.75       25.75         James Stinnette       2       25.75       51.50         Post       9       25.75       231.75         Little Otter       1       25.75       25.75				
Samuel Martin       1       25.75       25.75         Wartule       2       25.75       51.50         Stinking Oil       5       25.75       128.75         Rabbit String       7       25.75       180.25         Buffaloe-gone-along       1       25.75       25.75         James Stinnette       2       25.75       51.50         Post       9       25.75       231.75         Little Otter       1       25.75       25.75	Polly or Wala			
Wartule       2       25.75       51.50         Stinking Oil       5       25.75       128.75         Rabbit String       7       25.75       180.25         Buffaloe-gone-along       1       25.75       25.75         James Stinnette       2       25.75       51.50         Post       9       25.75       231.75         Little Otter       1       25.75       25.75	Samuel Martin			
Stinking Oil       5       25.75       128.75         Rabbit String       7       25.75       180.25         Buffaloe-gone-along       1       25.75       25.75         James Stinnette       2       25.75       51.50         Post       9       25.75       231.75         Little Otter       1       25.75       25.75	Wartule	2		
Rabbit String       7       25.75       180.25         Buffaloe-gone-along       1       25.75       25.75         James Stinnette       2       25.75       51.50         Post       9       25.75       231.75         Little Otter       1       25.75       25.75	Stinking Oil			
Buffaloe-gone-along       1       25.75       25.75         James Stinnette       2       25.75       51.50         Post       9       25.75       231.75         Little Otter       1       25.75       25.75	Rabbit Štring			
James Stinnette     2     25.75     51.50       Post     9     25.75     231.75       Little Otter     1     25.75     25.75	<u>~</u>			
Post 9 25.75 231.75 Little Otter 1 25.75 25.75	this special s			
Little Otter 1 25.75 25.75	Post			
	Little Otter	1		
	Ancy	2		

	COME AND ADDRESS OF THE PARTY O		man man man kilve grins disks Male Male Male arms grins come gifter films killed Male grins grins grins grins man outs Male Male Alak Alak Male man grins come grins of
To whom paid.	No. in family.	Share to each of the \$50000	
Heads of Families.		treaty of 6th May, 1828.	Total Amount.
	THE SECTION SECTION OF THE SECTION OF THE SECTION SEC	CHAIN COMMENT MATERIAL SOUTH COMMENT COMMENT TO THE COMMENT AND	[141]
Sand Hill Crane	6	\$25.75	\$154.50
James Colston	7	25.75	180.25
Teskah	1	25.75	25.75
Lydia	1	25.75	25.75
Sweet Buffaloe	3	25.75	77.25
Walker Bobtail	1	25.75	25.75
Charles Coody	9	25.75	· 231.75
William Colston	3	25.75	77.25
James Pace	1	25.75	25.75
Chenana	4	25.75	103.00
Lewis the Twin	5	25.75	128.75
Otelkee	1	25.75	25.75
Ootahtuskey	1	25.75	25.75
Tobacco Will	10	25.75	257.50
Tyyahah	7	25.75	180.25
Betsy McAlister	2	25.75	51.50
Wm. Paunch	2	25.75	51.50
Wm. Drew	2 2 2 7	25.75	51.50
Fawn	7	25.75	180.25 180.25
Widow Fields	2	25.75	51.50
Deer Track	1	25.75 25.75	31.30 25.75
Sam/1. Wooster		25.75 25.75	25.75
Dumplin Stop Still	1	25.75	154.50
John Milton	1	25.75	25.75
Colosteconheter	6	25.75	154.50
Six Killer	6	25.75	154.50
Pheasant	3	25.75	77.25
Big Canoe	6	25.75	154.50
Big Canoe's son	7	25.75	180.25
Thos. Hinum		25.75	128.75
Smoker Glass	5 5 5 5	25.75	128.75
Arstoleteh	5	25.75	128.75
John Justice		25.75	128.75
Witch Justice	5	25.75	128.75
Cho Roe	4	25.75	103.00
Walter Webber	13	25.75	334.75
Aaron Price	6	25.75	154.50
Climbing Bear	3	25.75	77.25
George Guess	5	25.75	128.75
Old Spirit	1	25.75	25.75
Grass	4	25.75	103.00

12/86

37

		NI MALANA MININA DININA DININA MANANA MANANA ANIMINA ANIMINA ANIMINA INAMANA MANANA ANIMINA MANANA MANANA MANANA MANANA MANANA ANIMINA	param faculta statut statut strate strate strate strate spiene spiene strate specie strate strate strate
To whom paid.  Heads of Families.	No. in family.	Share to each of the \$50000 granted by treaty of 6th May, 1828.	Total Amount.
been data can man man man atta com man data data data data data data data da	delines (anticine control delining accessed articles control c	<ul> <li>According to the special service should be special should be special satisfact against against a great place and a special should be special should be special source.</li> <li>According to the special service and desirable benefits blanch market source action of special specia</li></ul>	[142]
Titus Grapevine	5	\$25.75	\$128.75
John Leak	4	25.75	103.00
Little Swimmer	4	25.75	103.00
John Girty	4	25.75	103.00
Dan'i Clark	1	25.75	25.75
David Hughes	2	25.75	51.50
Ig Chishlom	2	25.75	51.50
Peter Harper	3	25.75	77.25
Thomas Emery	1	25.75	25.75
Widow Tekatoke	2	25.75	51.50
Calarnarka	5	25.75	128.75
Alex. Brown	3	25.75	77.25
Oaksellitah	8	25.75	206.00
Young Puppy	É	25.75	154.50
Betsy	1	25.75	25.75
John Rainstopper	6	25.75	154.50
Sam Toloya	4	25.75	103.00
Cahtoatah	10	25.75	257.50
Parokeet	6	25.75	154.50
Cookootakuske	1	25.75	
Total paid	1835	25.75	*\$47251.75

<sup>\*</sup> The \$47,251.75 of the \$50,000 granted by 5th art. treaty 6th May, 1828, to the Cherokees as an inducement for their emigration west of the Mississippi, has been paid by George Vashon, between the 16th Sept. 1830 and the 31st Decr. 1833, to sundry individuals, by drafts drawn on the Department of War.

<sup>[</sup>Ed. note] The above is taken from Senate Document #512, Vol. 5. The original page numbers are indicated by [ ]. More information concerning the records that resulted from this treaty are included in Some Records of the Western Cherokee Treaty, 1828 published by HISTREE, 1985.